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Instructions for Candidates

i

Write your Roll No. on the top immediately on receipt of this question paper.

There are six questions in all.

3. All questions are compulsory.
Use of simple calculator is allowed.

5. All parts of a question should be answered together.
Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Answer any two of the following : (2x4=8)

(a) (1) Solve for x when :

3x+2
x—1

>2-x

(i) Given sets A, B, C, prove or disprove :
(A\B'n C) = (A\B) U (A\C)

(b) (1) Find the domain of the function :

i)

(i) Is x > -3 a necessary condition for 2x + 6 >4 ?

(c) () Draw the graph of y = —(x — 1)' using the graph of y = x5,

(i) If f(x):J-xle and g(x):\/g’ is f(x) = g(x) ? Why or why
not ?
fefafas % @ il @ @ I af
(F) @@ x = ez ik

3x+2
x—-1

>2-x

(i) Ry ww @ w==l A, B, C, ¥q FrafRas =t R #ifw o o
frg =R :

(A\B N C) = (A\B) U (A\C)
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(@) (i) Fe=fafag wem &1 WA (domain) I SR

w255

(i) M 2x +624 & ¥4 B & fow x>-3 v smEww ol 27

() (i)y-= X' F@ W WEA Ay = ~(x— 1) H INEG FEY |

(i) afe f(x) = ‘/ t{‘q' g(x ??rTﬂTf(x) = g(x) ? =0 AT F=q
2. Answer any four of the following : (4x4=16)
(a) (1) Let n be a positive integer. Show that there is a number ¢ between 0

and x such that

n-l

(1+x)" -1
—+——=n({l
, n(l+c)
(i) Use part (i) to evaluate
. (1+x)" -1

x—0 X

(b) Find the quadratic approxiniation of f(x) = In(1 + x) around x = 0 and find
the Lagrange bound on absolute error when |x| < 0.1.

(c) Perform test for convergence for the following :

w200 |7
(i) {(_1) n;-ll—l}

(ii) Z

n=I

PT.O.
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(d) () Given f(x) = In|g(x)|, find {" in terms of g".

. g 1
(i) Find lim| ——-—
: -l x—-1 Inx

() Suppose fand g are differentiable functions of x. Express El (f+ g) in terms
of El (f) and El (g) where El denotes elasticity.

frfofag ¥ 3 fFsl oIk & <R S
(=) (i)“ﬁﬁmnﬁuﬂﬁﬁq\fﬁ%lmﬁoaﬁ?x%mﬁﬁw
¢ fagmae @ &
(1+x) 1 i
" (1+c)

(@) x = 0% @ f(x) = In(1 + x) I gfara afeeT (quadratic approximation)
mﬂ'ﬁﬁqa‘qﬁlﬂso.lﬁfﬁfmﬁﬁﬁ?ﬁ‘aﬁﬁm (Lagrange)

Far o T ST |

(1) Frfofam @ sfEer 8g Qe R ;

2 200 |
Q) {(-1) n,“H}

=l

o0 421‘1—1

(i) 2 et

n=1
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(@) @ g @ W A £ A A A, R f(x) = Injg(x)}-

o (X2 1
(i) hm[—————-] w A HioY |

x—-1 Inx

(¥) w7 AR fa g xH et B 2 | Bl (f+ g) & El (D El (g) & Wl
¥ o g wE Bl @ @ Rl wa @)

3.  Answer any three of the following : (3x5=15)
(a) For each of the following functions prove that the inverse exists :
(@) f(x) =3 +x +¢
(i) g(x) = In(x + 3)
Find (f')y at 4 and (g)" at 0.

(b) Find on the part of the rectangular hyperbola xy = 4 in positive quadrant
the point which is nearest to the origin 0 and show that the shortest
distance is perpendicular to the tangent at this point. What is the shortest

distance ?

(9] (i) Find vertical and horizontal asymptote, if any, of the function

3x—2
=t
(x+1) (x-2)
sie 3 ) 1.0 H a‘x+5
(i) Find ‘a’ and ‘b’ that will guarantee that the graph of f(x)= s
—bx
will have a vertical asymptote at x = 5 and horizontal asymptote at

=X

BTO.
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X if x <1

o B f(x) {\/_ 3 ifx2>1

Sketch the graph of f. Also, comment on the continuity and differentiability
of the function f(x) at x = 1.

fAfofaa % & fesl a9 & o G
() Ffeiiad % & 7o wew 3g Re diNw & afedw s g 2
G) f(x) =3 + x + &
(1) g(x) = In(x + 3)
4 9T (f1) 991 0 W (g!)’ A\ i |
(@) oreieh JifdaEer ™ xy = 4 & g agat ¥ fm wm W 98 g W .

wifg St & A fag 0 % Fieeew 2 @ wuisy f 98 —aw @ =@ R
W WHE & A 8 | gAed g0 o B 7

=2
(x+1)2(x—2)
and horizontal asymptote) I Hifore, afe =g =

(1) () waw f(x)= & forg Srealer 9 AfsT sFeai¥ar (vertical

(ii)mﬁm‘a=aﬁz‘b’%ammwﬁaf(x)zg’:j & s
H x = 5 W T FARR IJA~waw 8t 9 y=-3 afoe sH=aest 8 |

-2x if x<1

R B {\/_ 3 ifx>1

@ fH WE I agiiawa%ﬁimm#f(x)aﬁx=1maﬁﬁmaaaamﬁum
w o I =it
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4.

Answer any three of the following : (3x5=15)

(a) How long will it take for a sum of money M, to double if it is invested at
an annual rate of interest r100% compounded (i) quarterly and (ii)
continuously.

-

(b) Supp_-o,sg;, you inherit a piece of land in a remote village whose market value

in Rupees, t years from now is estimated to be v(t) = 50,000 e, If the
prevailing interest rate remains constant at 10% compounded continuously,

when will it be most advantageous for you to sell the land ?

(c) Find the elasticity of y with respect to x for the function y = x*%¢*), Show
that elasticity decreases with x if b > 0.

(d) Find the intervals where the function f(x) = x%e™ is increasing and
decreasing.

i % 3 el A9 @ o St

(%) o it uiet M| =1 G0 B ¥ fovee e oA At @ sme = i 9 r100%
R i fhar we o @ W wwgfe s Peger e (i) SR (i) we
|

(@) = A for st v qrae vifa A g svs fwa ¥ fen 2, fae st

AR e 3 A ¢ T A v(t) = 50,000V B 1 R e mw w 10% (e
wohgfe & o) W Rer e 2, T s g 39 savs o e S et e
g ? >

() W y = xte e 3 y B x B W A A AR | 7wiew B AR b> 0 A
¥E A x ¥ gfe & @a w9 B 2

(=) A FA A SR A e f(x) = x2e™ qEHAT (increasing) 9 &HAN
(decreasing) # |

' PTO.
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5. Answer any three of the following : (3x5=15)

(a)

(b)

(c)

(d)

Find the absolute maximum and minimum values of f(x) = 2x* — 15x? + 36

on the interval [1, 5] and determine where these values occur.

Let f be defined for all x by f(x) = (x*—1)*?
(i) Compute f'(x) and f'(x).

(ii) Find the local extreme points, points of inflection and cusp of f.

A quadratic profit function m(x) = ax? + bx + ¢, where x is output, is used

to reflect the following assumptions :
(i) When x = 0, profits are negative.
(i) The profit function is strictly concave.
(iii) The maximum profits occur at output level x* > 0.

What restrictions need to be placed on values of the constants a, b and ¢

in order to fulfil the above mentioned assumptions.

Draw the graph and investigate the following functions for local extreme

points.

) f( ) -X; x<0
X —

@ x+5 x=20

x*+3; x#0

4; ¥=0

@ f(x) ={

ffeftaa § ¥ frsl 9 = ST Al

(=) s=ae [1, 5] 9 f(x) = 2x® — 15x* + 36 & Tt Svuaw 9 s o |

e, T A SR 5 A AW wE W B R
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(@) 7 «ifsig f&F faf x 39 f(x) = (x2- 1)¥* & g7 aRarfg 2
() f'(x)d f"(x) 7@ A 4 |
(i) f& wE =@ farg, Ae-fFF (points of inflection) T T=mr= g

(cusp) =@ =i |
(1) T gfaEria @ WET n(x) = ax® + bx + ¢, WEf x I B, T FERREd
A i uRafd = B SwEn fewr e 2

() 99 x = 0 W & THRE (negative) & |
(i) &N e e SEad @ |
(i) & T AfTFTH WR IR & "R x* > 0 W W Ber B |

SRET AT H EIC B og R a, b and ¢ B AR W F4T vl

MY W =Ry ?
() Frafefea weml & Tofm s Ee @ 3 worl @ e s e 3 i
T
X3 x<0
@) £(x)= {x+5 x>0

(i) f(x)= {x e zjg

6. Answer all the questions : (2x3=6)

(a) Find the consumption function C(Y) when the margmal propensity to consume
(MPC) function is given by :

MPC—£ 04+0'l d C(Y=100) = 50
ay ‘ ﬁan (Y = ) = 50.

OR

PLQ.
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Evaluate the following :

o &Iz

4 )
(i) o _[ (t2”+9)dt
2

(b') Solve the difference equation X, =—3x_, + 4 and determine if the solution
path is convergent or not.

FfoRam % ¥ @t = I fw

(F) Al Inw it drw SwERET (MPC) wer
C—£—04+—Oi C(Y =100) = 50
MP qy ﬁm (Y= )=
B W IT W C(Y) T R |

OR

efofes =1 s i

0 &l

d ln(x)
@ 5 | (7 +9)a
(W) AR TR x, = 3x_, + 4 W B W PG v FuiRe 90w B @
99 HANER (convergent) ® srar wEY |

' (300)
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1. Answer any two of the following : (2x4=8)

(a) (1) Solve for y when

< |

S [

: =
(ii) Find the domain and range of the function f (x) = |x_]_

(x-1)°

(b) (@) Is x <-3 a necessary condition for x(x + 4) > 0 ?
(ii) Given sets A, B, C, prove or disprove :“ ’
A\(B\C) = (A\B)\C
()

() Is the function f: R — R defined by f(x) = (x —2)*> + 3 one-to-one ?
Why or why not ? Find the range of the function.

(i) For what values of x does the equation |y| = x define y as a function
of x ? Graph the relation |y| = x.

Fefofea ¥ 3 7l @ @ S R :

(®) @) y= fow esa «ifg aR

l*«: | =
W

A1 e
=8

(ii) weF f(x) = IJ:T—:)J? T WE (domain) ¥ YRE (range) I T |



e
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(®) @ T x<-3, x(x + 4) > 0 37 TF EEE TS D7

(ii)ﬁqwﬁwagmﬁ&&c,%gﬁmﬁ*ﬁaaaﬁﬁaﬁﬁmmm
g & - :

A\(B\C) = (A\B)\C

(“)- O F f:R >R ¥ f(x) = (x-2)* + 3 30 RARE A TH-A-TF
(one-to-one) 8 7 =& & W@ W& ? T 6T BT W S S |

(i) x & foT 7Y B WRB {y| = x, y D x B v woT @ w9 F RaRe
FA B 7 WY |y| = x T IR TR |

2. Answer any four of the following : (4x4=16)

(@) Compute the following limits :

Q) lim(log, x)*

s log, x
i ——85
W log, (x—8)

(b) @ Suppose f and g are differentiable functions of x. Express El f(g(x))

in terms of El f(u) and El (u) (where u = g(x) and El denotes
Elasticity).

(i) Does the series Zw 1(2+§J converge ? Why or why not ?
n= n t

; PT.O.
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d
(c) Use the fact that a(3x4+x2—4x)= 12x*+2x—4 to show that

the equation 12x%+2x—4 =0 has at least one solution in the interval
(0,1).

(d () Find the linear approximation to f(x)=x3/2+2x/;. Use it to

approximate the value of f(16.01), when the approximation is done
around x = 16.

d
(i) Find EX’—' if y = f(g(x)), given f'(x)=v3x+4 and g(x) = x — 1.

(e) If f(x)= B—-_—l) prove that f(x) has an inverse function. If g(x) is the inverse

(x+1)

A
of f(x), compute g [g)

ﬁmﬁrﬁaaﬁ%%-%fm%wéﬁ?:

() Preafofee Gl @ W@ SR

) li_}r;.lg(loge x)%

oy, R log. x
=
) log, (x—8)

(@) @97 AT f9 g, x F FHeFd ®wa § 1 El f(g(x))  El f(u) @
El (u) & W& ¥ =@ Akmw (W6l u = g(x) @1 El @ =t Fefig
T ®) |
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{ii) @ sjEen (24—2)“ AFERT (converge) Bt B 7 W T =
n=l n
& ?
() =T i(3x4+x2—4x)= 12x3+2x —4 to &1 ¥8EaT A eWisy & e
12X +2x -4 =0 & =0l (0,1) ¥ FH-V-FF TF & 2 |
(@) 0 f(x)=x"+2Vx. @ W wFweT Ww Q| e wemar R

f(lﬁOI)waﬁwwma%ﬁrq el uf e x = 16 & 39-9™
forar @ 2

(i) afE y = f(g(x)), £'(x)=+/3x+4 Wg(x)—xz—lﬁr ﬁmiﬁﬁml

(¥) e f(x) = EX—B @ fig Ffw fF f(x) *1 9 @ (inverse function)
X+

fogmm 21 af? g(x), f(x)aﬂuﬁﬁhw%@rg[]aﬁmﬁraﬂml-

3. Answer any three of the following : (3x5=15)

(a) Graph the function :

(ORI

x+l x>1

Find the point(s) of discontinuity. Comment on the nature of discontinuity.

PTO.
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(b) Find vertical and horizontal asymptotes, if any, for the following
functions :

(1) f(x)=x2>*

7 x2+2x-3
i B

(c) Show that f(x) = 20x — e** has exactly one root.

(d) Show, using implicit differentiation that any tangent line at a point P to a
circle with centre O (0, 0) is perpendicular to radius OP.

fFeffas % ¥ &l W @ S SR
() F=fofes e =1 sma s e

23
f(x) z{x x=1

x+1 x>1

FEadr (discontinuity) & frg s =ifw 1 s @t Wofd w froqit
HIWY |

(@) Ffefad we i & SR (vertical) @ &R (horizontal) Sareafifar
(asymptotes) sa@ Fifog, afe =g 2

) f(x) =x2~>

. x> +2x-3
Gl

(1) wEis® & f(x) = 20x — e = Sw Tw qW T
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() W& e (implicit differentiation) @t ¥emar ¥ <@g & &= 0 (0,0)
T T g9 @ R g PR s ¥, B (radius) OP & oF=aq &l
A

4. Answer any three of the following : (3x5=15)

(a) A psychologist measures a child’s capability to learn and remember by the

function :

- ln(t+1)
Tt

L(1)

where t is the child’s age in years, for 0<t<5.
(i) At what age does a child have the greatest learning capability ?

(i) Find the proportionate rate of growth of L(t).
(iii) Is the proportionate rate of growth of L(t) positive for. 0<t<5 ?

(b) S_uppose that a project has an immediate cost of Rs. 10 crores. It
involves running costs of Rs. 1 crore per year in perpetuity, beginning
at the end of a one-year construction period. At the end of this year, annual

gross revenue from the project of Rs. 1.5 crores per year is generated in

perpetuity.
(i) Is the project profitable if the interest rate is 8% per year ?

(i) For what range of (non-negative) interest rates is the net present value

positive ?

(c) Consider the function defined for all xeR by f(x)=¢""'-x.

PT.O.
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(i) Determine the sign of f'(x).

(if) Show that f(x)>0 for all xeR.
(i) Draw the graph of f(x) and show that f(x) — 2 has exactly one solution.

(d) Find constants A, B, C and D such that the graph of
f(x) =3x*+ Ax* + Bx2+ Cx + D

will have horizontal tangents at (2,-3) and (0, 7).

Fefofem ¥ ¥ & @9 @ s AR

(m)wﬁ%mﬁa%ﬁﬁa&@aﬁamm&ﬁma%ﬁﬂ%ﬁaaw
TR A9

' In(t+1)
Ct4]

L(t)
WE t, W A Wy ¥ (AW W), 7 0<t<5.
_(i)aﬁaﬁﬁ’raﬁ‘a&maraﬁmﬁmmgﬁ'aﬁ%?
(i) L(t) =t srgefes 3f& = (proportionate rate of growth) G W |
(@if) =T L(t) * sguiee g ® 0<t<5 g uererE @7

(a)mﬁﬁqﬁ?wqﬁ@amaﬁmm(immediate cost) 10 FAT & 2 |
T WS WEW (running costs) Wfiay 1 wz & 2 W R - sy
(Waﬁ)%m%mmaa&m@ﬁlwﬁ%m%
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TR B RAGHT R 1.5 S8 T I aie WRel R, B 99 SiHd el
@ |

() AR =w W 8% B W o URAET wNeEE 2 -7
(i) o W ® AR @ e W (FETerE) Bg figw @ A (net
present value) ST BN ?
(@) =% xeR 3G f(x)=¢"'—x W wRAME woT W faar s

() f'(x) = fe FulRa Hw |

(ii) ey & @ xeR ?g £(x)>0 B
(iii) f(x) =T G wEC 9 RN B f(x) —2 @ SiF TE BA © |
(%) W feriwi A, B, CW@ D & AW @ iy & e

f(x) =3x*+ Ax* + BxX* + Cx + D

® aF & (2,-3) W@ (0,7) W e w5 @ (horizontal tangents) i |

5. Answer any three of the following : (3x5=15)

(a) If f(x) = x2*(6 —x)'?, find the intervals in which the function is increasing

and/or decreasing.

(b) A single input, x, is used to produce output y and the production function
is y = x', x > 0. The cost function C(y) = 10g(y), where x = g(y) is the
inverse of the production function. Show that the production function is

strictly concave and the cost function is strictly convex.

P.TO.
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(c) For what values of ¢ does the polynomial P(x) = x* + c¢x3 + x2 have -
(1) Two inflection points ?
(i) No inflection point ?

In case (i), does the curve change from concave to convex or convex to

concave ?

(d) Given the function f(x) = (x* + x)?, do global extreme points exist in
[2, 3]. If yes, find them.

ﬁwl%rﬁaaﬁ%ﬁvﬁeﬂq%mﬁ%q:

(%) 3l f(x) = x23(6 — x)'5, /& ¥ S A HINY - a8 e 989 9/
TN 7 |

(ﬁ)wm(input)xﬂwwya%w?r%g%mm%wma:r
Wy=x"3%x>o.amam=rqy)=10g(y) ®, WEl x = g(y) SeET
WO B AT W | wEiey B See wer wew: sae 2 (strictly
concave) WUl AN ®olT & e Ied (strictly convex) # |

(M) c & e o 3 98T P(x) = x* + cx’ + 2 &
@) 3 A g a7
(i) ®E Az g =& B ?
e (i) ¥ ww @ o sow ¥ geww A 2w g ¥ e 7

(‘T)Wf(-k)=(x2+x)2’3%a‘ﬁaazwﬁ§w[—2,3]ﬂﬁqmn=rt??zrﬁ
B @ I A9 ERw
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6.

11

Answer all the questions : ' (2%x3=6)

(a)

(b)

Find the common area between x <3-y* and x>-1.

OR

A function F is defined for all T > 0 as follows :
K T
F(T)=— |e™®dx 5
M=-1]

Evaluate the integral and prove that F(T) takes values in the interval
(0, K). |

A bank account gives an annual interest rate of 5% compounded monthly. If
you invest Rs. 1000 initially and add Rs. 10 every month, write a difference
equation which describes how the amount changes from month to month.
The amount after n months is denoted by q . Solve the difference equation
and comment on the time path. Is it convergent/divergent and oscillatory/

non-oscillatory ?
OR

The population of an island is currently 50,000. It is declining at 1% per
annum. However, there is net immigration of 5,000 persons each year. Write
the difference equation for the population after t years and solve it. Find the
steady state equilibrium and depict how the solution converges to/diverges

away from the equilibrium state.

@t 7 & I AW

(F)aA x<3-y* T x>-1 & WA (common) &F T HiwT |

=Adl

PTO.
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12
U W F @l @ T>0 ¥q Feer wor wRnfe fer wmr 2

F(T) =

E e dx
T

S ey ]

mwmwwa&ﬁﬂqaﬁaaﬁﬁqﬁ_gﬁ)%wmm,m
L

(@) v d& @ 5% =t A = R @ 2 R TR Twafe R ® A

m%nuﬁmmﬁmmnwﬁ%ﬁammawﬁm
@%,ﬁwﬂﬁrﬁﬂa#-w~ﬁ%qﬁaﬁ#ﬁwﬁwwaﬁwwﬁrﬁw
n MEH & 9© TR A q, ¥ T W B0 W SR W # ad S
9 W 9y R Rl w6 aw ww-tw shE @ e 9w S
T A TS ?

Jeqdr

T Y W WA e 50,000 1 wE wRed 1% 9 W ¥ ww A @
21 Wy whad 5,000 @@l @ faw immigration B W B 1 t a9 @
9T T Y FR e Ry T ¥ i | e sren awaaen
@ WY T Twisy 6 e wohr o =@ anumen & sk sRERY S 2/
HEET 4 R ARG Ber #

(3900)
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Bl & fou e

1 WE-T @ fed & oW e w il wow v s sewas fofaw

2. UA® AT & Al YA & IR TE A IR IRl W I I T A AW W W
ITEN 1 T & qE HH A THl & IR S

3 ETERUT oA H IR W B
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5 U Y 99 A UR @E 21 o) @8 @ I afewl

6. I UTT-9F o IR JAden a1 e fnd v v A Sifswg, AT o I @ e
B BT WY |



6002 2

SECTION 1
ATTEMPT ANY TWO QUESTIONS OUT OF Q1, Q2 AND Q3

we 1
91,92 3R Y 3 A/ wiE of @y Hifswe
1. (a). The following measures were computed from data on a variable
Mode = 83 Mean = 74 Median = 77
Comment on the shape of the distribution and roughly sketch it.

(b) The sum of deviations of a certain number of observations from 12 is 166
while the sum of deviations of these observations from 16 is (-54). Find the |
number of observations and their mean. (2+3)

(F) T =R & snenst ¥ FeferRaa w9 Tomm & T o
Tgew = 83 oA = 74 fEAT = 77
ﬁw%mwﬁmﬁﬁﬁqwmiﬁﬁaw;

(|) 12 ¥ el = v Fiftaw wem @ faee @ aemed 166 2 @l 16 ¥ Jei
v ffted e & fraest @ dnmee (- 54) 21 e € wEn 9k S T
FIT Hg ‘

= (n*X, + Xn+1)
2. Show that for given (n+1) numbers X, = (n+1)

If the average monthly spending by 21 women in a kitty group was Rs. 5240,
what is the new average spending if another member is added whose average
monthly spending is 5540? Use the formula above. (5)

_ *X. + Xn+l
R fr & T T (nt1) B Rorw Ky = (;:l)’” )

7

afe v ot awe & 21wﬁ=’wsﬁ§rnmﬁa;!aﬁaﬁm%a@ gitaa Tt 5240 € 2, @ 7
st @ fee Bl aft v Yar war wew SR e, W @ frae sia Wit @ 5540
® 27 INS T H W@ H
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4.

In a factory the monthly wages of 200 workers were noted and they were found
to be negatively skewed. Draw a representative frequency curve to show this
skewness. The leader of the workers argued with the management that “average’
wages are-low. The owner of the firm did not agree with the workers’ leader and
suggested that average’ wages quoted are wrong and are actually much higher.
Can you justify both the views, using your diagram? Which view do you agree
with and why? (5)

T HRE 2ooﬁmﬁﬁwwﬁmﬁmaﬁmwaﬂﬁisﬁaﬁé}w
I T T T AU ) @ e v Prege S 9 (representative
frequencycuwe)ﬁunﬁnWﬁaﬁﬁ%ﬁm%ﬁm%mau@ﬁﬁﬁmm%
%%mﬁlﬁwmﬁmﬁﬁ%ﬁ%wﬁ%mﬁwmaﬁ
wm%%%mwwmaﬁzwﬁwa@m%awmm
e o gw O Y W e aw w27 S el T ¥ wewa F ik w97

SECTION II
DO ANY TWO OUT OF Q4, Q5 AND Q6.
s 2
T4 953R 96FF a5 0 @) aifw

(a) Six persons toss a coin by turn. The game is won by the player who first
throws head. Find the probability of success of the fourth player.

(b) A coin is tossed three times. If the first toss produces a head, find the
probability of getting at least two heads in three successive attempts.

{¢c) LetA, B and C be independent events with probabilities 1/2, 1/3 and Y4,
compute P(AUBUC). {4+4+2)

(=) E:aﬁﬁ@f%ar&—mﬁ%wﬁa%aﬁsmlﬁawﬁama%mﬁ{wég
aﬂﬂaﬁmmlﬁ%m@%wﬁ%aﬁmﬁmmaﬁml

PTO.
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4 @

(=) v R ol S 9 SoTen W 21 A ued ot N 2 I, A A AR TR

(1)

5. (a)

(b)

(c)

(=)

mﬂmﬁm%w%‘gmﬁaﬁwﬁmmaﬁml

A fR A, B3R C,1/2,1/3 3k 1/4 I et I e sriere & P(AUBUC).
@l AT FHifeTe '

An electronic manufacturer has two lines A and B assembling identical
clectronic units. 5% of the units assembled on line A and 10% of the units
assembled on line B are defective. All defective units must be reworked at
a significant increase in cost. During the last 8 hour shift, line A produced
200 units while line B produced 300 units. One unit is selected at random
from the 500 units produced and is found to be defective. What is the
probability that it was assembled on line A? Answer the above question if
the selected unit was found to be non-defective.

A real estate agent has a set of 10 keys, one of which will open the front
door of an apartment he wants to show to a potential buyer. If the 10 keys
are tried in a completely random order, find the probability that

(1) the first key opens the door
(ii) all 10 keys are tried.

Show that if for any two events A and B P(A/B) > P(A) then it is also true
that P(B/A) > P(B). (4+4+2)

wsﬁaﬁﬁaﬁﬂh#WAaﬁtBﬁwﬁwﬁﬁﬁaﬁﬁmmﬁaﬁ
SR 81 AR A F T T 5% T S FR B A wwnd 10% sgerrsan
el 31 T ¥ gfe wwe w duat T = S fvar s 2 e 8 wie
I e ¥, AR A ¥ 200 3EEA 3K FAR B ¥ 300 SRIEAT e Y R 2
STET & W 500 wg&fif%wméa%u@%am%gmwaﬁrﬁ%
WWW|WWA%ﬁmaﬁaﬁmﬁaﬁnwﬁ?uﬁ?ﬁwwﬁ

Al TE w2 @ IR v se 37
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(@) v Rast v Toic & 9@ 10 mﬁﬁaﬂwﬂf%,ﬁaﬁ%@mﬁ%waﬁf

(b)

(c)

T AW ATl ST Go R 9F va wifae sar o e wean 21 afe 1o
iRl i ASHEH T A AT A B, W AT TG g 6

(i) weeht =it | SRETST el
(i) =¥ 10 =nfedr =T SworET T &
fereal o <t et A 3k B & forg fead fs P(A/B) > P(A) fi 7m st s 2 o5 -

P(B/A) > P(B)

In a group of 1000 persons, there are 650 who can speak Hindi, 400 can
speak English and 150 can speak both Hindi and English. If a person is
selected at random, what is the probability that he speaks

(1) only one of the two languages
(i1) at least one of the two languages.

Computers A and B are to be marketed. A salesman has 60% and 40%
chances respectively of succeeding in case of A and B. The two computers
can be sold independently. Given that the salesman is able to sell at least one
computer, what is the probability that computer A has been sold?

A box of 9 gloves contains 2 left handed and 7 right handed gloves.

(1) If2 gloves are selected at random from the box without replacement,
what is the probability that both are right handed?

(i) If 3 gloves are selected at random from the box without replacement,
what is the probability that all are left handed? (4+3+3)

(%) 1000 =afFwl & vE @ ¥, 650 e W F off B 9w qhd ©, 400 Fdeh A

ahd € R 150 B AR HISH I A w21 3l v At W aghew w5
¥ I WY, o SED FW

P.T.0.
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(i) &t % ¥ = v s
(i) =t ¥ ¥ &% A =9 v oy
e @t wiiiesar @

(@) ﬁﬂaAﬁwamméuwﬁ%ﬁ%WAaﬁt'B%Wﬁw
B @ WA 60% 3R 40% m%aamﬁaﬁwﬁa@%wmméu
ﬁmw%%ﬁeﬁmm%m@%&g\aaﬁ%ﬁw%,aﬁ@A%%ﬁaﬁﬁ

* wifeRer w 27

(1) aﬁﬁf%%ﬁwaa%ﬁzamfm%aﬂwaﬁm%amﬁ%l

(i)uﬁzawﬁaﬁwaa%%ﬁmaaﬁa@%—@;m%gmm%ﬁhﬁ%
TR BT B Wifdear e 8 7

(ﬁ)ﬁsmﬁwm%ﬁmmﬁu@ﬁﬂﬁmﬁ?ﬁm%,?ﬁaﬁ%
X B & B ol W w27

SECTION I1I
QUESTION NO 7 IS COMPULSORY AND
ATTEMPT ANY TWO OUT OF 08, 09 AND Q10.

Te 3
H&?{W?aﬁaﬁﬁaﬁvg&ggaﬁvumﬁﬁ
fedt Y & & s ¥

7. (a) An urn contains four balls numbered 1, 2, 3, and 4. If two balls are drawn

at random from the urn and X is the sum of the numbers on the two balls
drawn. Find

(1) The probability distribution of X.
(i1) Find the expected value of X.

(b) Suppose E(X) = 8 and E[X(X-5)] = 30. What is the value of E(X) and
V(X)? (3+2)
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(F) T O A 1, 2, 3 3R 4 TG @ AR AS o1 AT A ¥ AgRod €9 Q@ A Fawen
St & 3R Frerelt W A A @ el o ARhe X 21 A

(i) X =1 wifdesdn de
(i) X =1 s A
i g

(@) o i ﬁﬁ E(X)=8 % 3iX E[X(X-5)] =30 81 &t E(X) 3R V(X) & 9 =0
27

8. (a) A private corporation plans to fill up vacancies in a particular department.
They offer jobs to 5 candidates and it is believed that for each candidate the
probability that the offer will be accepted is 0.6. Assuming that candidate’s
decisions are made independently, what is the probability that at least 2
candidates accept the offer? What is the probability between 1 and 2
candidates accept the offer?

(b) Suppose that 10% of all bolts manufactured by a company are found to be
defective but they can be repaired in the factory again. Suppose a random
sample of 200 bolts is taken. Let X denote the number of bolts that can be
repaired. What is the approximate probability that X is less than 30? Give
a justification for the method used in calculating the probability.

(c) Suppose purity of water in a particular region as determined by TDS (Total
Dissolved Solids), expressed in mg/L is normally distributed with mean 70mg/
L and standard deviation 3 mg/L. (Assume that purity of water is measured
on a continuous Scale).

(i) The water is considered as fit for drinking only if the TDS is between
67 and 75 mg/L. What is the probability that a randomly chosen sample
is fit for drinking?

(i) If the acceptable range is between (70-¢, 70+c), for what value of ¢
would 95% of all samples be fit for drinking? (3+3+4)

PIL.GO.
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9.

(%)

¢

8

ﬁﬁﬁﬁﬁmaﬁ,wﬁﬁwﬁﬂmﬁﬁaﬁﬁaﬁﬂﬁﬁﬁm%lﬁssﬂﬂwﬁ
ﬁ%ﬁﬁﬁwmﬁﬁtwwm%%mwﬁwmsﬁm
T H Wk 0.6 %‘mm?ﬂﬁq%aﬁﬁwﬁwaﬁvhwﬁm%m%,ﬁr
m%mzﬁaﬁmg&ﬁmﬂaﬂ%aﬂmﬁaﬂwﬁ?laﬁwwﬁzﬁ
A 3 WER w7 Wi = 27

A WA o v g Rl @ deew ¥ 3 10% sSiee@ Awqel g g &
W%@ﬁm%mwﬁmmélwﬁﬁq%m SIeCH @
mﬁmmﬁmw:wﬁwxwﬁqwaﬁaﬁ@@aﬁmaﬁ
el o 21 X & 3o%mﬁﬁﬁmﬁmw§?mﬁmaﬁmﬁu§aﬁ
fafer = wforeren Rrg i ?

wéﬁﬁq%wﬁﬁweﬁﬁﬁaﬁﬁmﬁﬁﬁw(gﬁmgﬁ@mm)
mﬁﬁ%mm%,ﬁ%ﬁm/ﬁﬁwﬁ%mm%,sﬁmz 70 fmm/#
%Wﬁwsﬁm/ﬁ%wﬁamﬁﬁaﬁﬁﬁmw% (AT <iiforg fo& ot
T Tl H qwE T F AT e 2)

(i) afe urt =1 Féigw 67 3k 75 . /ot = @ 2 9 el B O e wd T
S 1 AGReE T A o I @ G de S 9 e g 27

(ﬁ)uﬁﬁmﬁmﬁ@m(m{,mm),%@a%,ﬁc%ﬁmm%fﬁvﬁr
FEA 95% T W D frg @ B e

(a) A certain kind of plastic sheet has, on an average, five defects per 10 square

(b)

feet. If we assume a Poisson distribution, what is the probability that a 15
square foot sheet of plastic will have at least six defects?

A company receives shipment of 20 items. Because inspection of each item
is difficult, it has a policy of checking a random sample of six items from
such a shipment, accepting delivery if not more than one sampled item is
defective. What is the probability that a shipment with 5 defective items will
be accepted?
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(¢) A large group of students obtained test marks that are normally distributed
with mean 60 and standard deviation 15.

. " (i) What proportion of students obtained scores between 85 and 957
(i) Find the cutoff point for top 10% of all students.

(iii) Between what two numbers do the middle 50% of all marks lie?
(3+3+4)

() v fadw yeR A e Me A T 5 AW w10 FEER Hie e g1 3l
9 @) s (poisson distribution) @ el R, T weAfiedn i 15 T HE T
¥ o9 A T T AW B H WA w1 € 7 '

(@) va& w20 aegatl @t Bt we e B G g e R R R 9
Hfeerer 2, o W ¥ 2@ we A B ¥ o aegsl ¥ ¥ v aghew 9w 9@ W
= 3R TR A A SN Y T e W el SR FR 6 A 2
5 Auqul TEgH A T BT B R e o e w2

(1) v R R -wqE ¥ wder ¥ siw W g F R W 60 & WA S 15 @
W e & ar faia @ 81

(i) ForenPiaf & ferar Srgama oY 85 S 95 & W W I W faw A7
(i) =% M 10% frfa & wesvs 7w Hfow)

(ﬁj)%ﬁa@aﬁ%ﬁaaﬁaﬁwmmmmuﬁmm% ?

10. (a) Recently smog alert was called in areas of Delhi/NCR. It was found that this
region has about 50 industrial firms. An inspector randomty visits 10 firms

to check for violations of regulations,

(i) If 15 of the firms are actually violating at lcast one regulation, what is
the probability mass function of the number offirms visited by the
inspector that are in violation of at least one regulation?

PT.O.
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(i) If there are 800 firms in the area of which, 200 are in violation then
approximate the probability mass function in part i) by a simpler
probability mass function.

(b) It is observed at a food outlet that customers enter the outlet at the rate of
8 per hour. What is the probability that more than 15 minutes pass between

the arrival of 2 customers?

(c) The time (in minutes) required to get your turn at a bowling alley (X) is
uniformly distributed with A= 25 minutes and B = 35 minutes. Determine the
probability density function of X. What is the probability that the time required
to get your turn exceeds 33 minutes? (4+3+3)

() =1 & & Reeht/odiom & & ¥ g o) Y & 8 M qE arr @ e A
¥ 50 ﬁﬁﬁmﬁ%lwﬁﬁwaﬂﬁa?ﬂ%ﬁﬁ%maﬁmaﬂ%%
e 10 W fafse w2

() alc are" ¥ 15 ﬁm%mw%wmﬁqmﬁ%,ﬁrﬁﬂwm
ﬁmﬁqwﬁmwﬁwwﬁwwwmaﬁﬂgmm
et T (probability mass function) =r &7

(ii) afe & & ¥ %51 800 wF ¥ ok B A 200 B IeAET S B, o WA
(i)ﬁwmmﬁmﬁaﬁrwmﬁgmﬁmmaﬁaﬁw
Fifg ?

(@) wm%wwﬁw%m,ﬁdﬁsmaﬁm%ﬁﬁm%
2 e T I & qa H W 15 fme @ sftre o) SR 9wl @ 27

(1) w dife et F e a1 R B fre sawE @ @ A=25 fiF e ik B=35
ﬁw%mwwm%ﬁaﬁamwén X &1 9ileRar T\ woT iRy
HICI STH X S D T s ww 33 T & ftrer B & wifterar =
7
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SECTION 1V
ATTEMPT ANY TWO QUESTIONS OUT OF Q 11, Q12 AND Q13

wE 4

TN, 912 3R T 13 F A &S oft 9t woa v

k(x+
I1. Given the continuous joint probability function f(x,y) :(_3_;@ , 0 <x <1,

0 s.y < 1, compute the following:

(1) For what value of k is f(x,y)a valid probability function?
(i) Expected value of Y when X= 0.5

(i) Marginal distribution of X

(iv) P(X< 0.4)

(v) Covariance of X and Y (2 x5)

k(x+y)
3

YT AR BT f(x,y) = ,0<x <1, O<y< 1w w2, Feifera a5t womn

G

(i) A= fEam & fo o f(x,y) v 7 TfaTr wer 27
(ii) Y =1 yenf¥ w7 1w X=0.5 2

(iii) X 1 3T ST (Marginal distribution)

(iv) P(X<0.4)

(v) X &R Y =1 @8geRe

PTO.
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12

12. You are given the following bivariate probability distribution able:

Y 0 ] 2
X
0 C A 13
1 0.1 0.02 B
2 0.1 0.08 0.17

|

(1) For what value of A, B and C is the above table valid as a probability:

distribution if P(X= 0) = 0.3, P(Y= 1) = 0.5?

(ii) Find BE(X/Y= 1)

(i) Find covariance between x and y.

5

(iv) LetZ=| (X —Y) |. Derive the probability distribution for Z.

(v) Find V(Z)

(2*5=10)
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13.

T T v R o Revu arfesm @ @ 2

¥ 0 1 2
X
0 C A 13
1 0.1 0.02 B
2 0.1 0.08 0.17

(i) v wiEmar faeo & 1 F IR aifeer A, B sk C & e am & fog s
2 P(X=0)=0.3,P(Y=1)=0.5 27

(i) EQUY=1) a =ifsig
(i) x 3 y & A TETEROT FAA Do}
(iv) s f Z = [ (X —Y) |2 Z = forg wifdreran feeror ogeaw <ifwe

(v) V(z) s= =i
A student travels by metro and rickshaw to reach college The daily travel expenses
(E) are given in Rupees by E=2.5M + 1.5R, where M is the distance in kilometers

travelled by Metro and R is the distance travelled by rickshaw. Variables M and

R have means 20 and 10 respectively with standard deviations of 5 each.
(i) Compute the mean daily expense.

(i) What is the variance of daily travel expenses?

PT.O.
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(i) If E (RM) = 180, what will be covariance (R, M) and correlation(R, M)?
(iv) What can you say about the relation between travel in these two modes?

(v) Ifa friend gives a lift in his bike then daily expenses are reduced by 40 paisa

per kilometer, for every kilometer that he travels by metro. What is the 5
effect on expected expenses now? (2*5=10)

e feErdl s W @ g ) SR R o wew oo 1 3w v = (B) A v |
i E=2.5M+1.5R%mmﬁmm%,mafM%ﬁtﬁaﬂ%mﬁ@ﬁa‘qaﬁﬁr@
%aﬁ?Rﬁ-cr'sngmaua?rvrﬁ’t@%I 5 A fwrerT & | sk M 3fi R = e s
20 3R 10

(i) <Fe mea = 9% o S

(i) <Fe amn = = aegmor T 27

(iii) e E (RM) = 180 2, A wegaw (R, M) 3R w=aer (R, M) = 2rmr?
(iv) ﬁﬁﬂ%ﬁﬁm%ﬁa%aﬁa%aﬁﬁmm%aﬁ%?

(v) afe v fim meﬁwh%ﬁm%ﬁmmaﬁﬁﬁaﬁww
40 9ar 9fr RretRiter a9 B s 2 T AT =8 R AT T I91T G277
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A-2 Bopesdix Tables P
Table A1 Cumulative Binomial Probabilities B(x:n,p) =% by . p)
aan=5 3o
_ P
060 005 010 020 025 030 040 050 060- 070 075 680 0% 095 0.9
0 951 774 590 328 237 168 078 031 010 0027 001 000 000 .000 000
L9399 977 819 737 633 528 337 188 087 091 016 007 000 .000 .000
# 2 L000 999 991 942 896 837. 683 500 317 163 404 058 0090 001 000
<3 LDO0 1000 1.000° 993 98¢ 969 913 812 663 472 367 263 081 003 001
4 1000 1000 1000 1000 099 998 990 969 922 .83 763 672 A0 226 049 _
=10
r
061 005 @10 020 625 030 040 050 060 070 075 680 030 095 099
0 904 599 349 107 056 028 006 001 000 000 000 .000 .000 .000 .000
L 896 94 736 376 244 149 46 OIL 002 000 000 000 000 000 000
1 1000 988 930 678 526 .383 167 055 02 002 000 000 000 000 000
31000 999 987 879 776 650 382 172 055 Ol 004 .001 000 000 000
4 1O 1000 998 967 922 850 633 377 166 047 Q020 006 000 .000 .000
¥ 5 1000 1000 1,000 994 980 953 83 623 357 .50 078 033 002 000 000
6 1000 1000 1000 999 .99 989 945 828 I8 350 224 421 013 001 000
71000 1000 1000 1000 1.000 993 988 945 833 617 474 332 070 012 000
8 100G 1000 1.000 1000 1000 1000 998 989 954 8S1 756 624 264 086 004
9 1000 1000 1000 1000 1.000 1000 1000 999 994 972 944 803 651 401 006
tar=15
i »
001 005 010 020 025 030 040 050 060 070 075 080 050 095 0.99
¢ 860 463 206 035 013 005 000 000 000 060 000 000 .00 000 000
I 990 829 549 167 080 035 005 000 .000 .000 00 000 000 000 000
2 L0096+ 816 398 236 127 027 004 000 000 000 000 000 000 000
3 LO00 995 544 648 461 297 091 018 002 000 000 000 000 .00 000
4 L1000 999  9RT 836 686 SIS 217 059 009 001 000 000 000 000 000
3 1000 1000 998 939 852 722 403 151 034 004 001 .000 000 000 000
6 OO0 1000 1000 982 943 869 610 04 005 015 004 00L 000 000 000
71000 1000 1000 99 983 950 787 .00 213 050 .0I7 004 000 000 000
§ 1000 1000 1000 999 99 Y85 905 .69 390 .31 057 OIS 000 000 000
9 1000 L1000 1000 000 999 996 966 840 597 278 148 061 002 000 000
10 LOOG 1000 1000 1000 LOOD 999 991 941 783 485 314 164 013 001 000
111000 1000 1000 1.000 1000 1000 998 982 909 703 .539 352 056 005 .000
12 1000 1000 1OP0 1000 1.000 1000 1000 .96 973 873 76 602 184 036 000
13 1000 1.000 1.000 1000 1000 1.000 1. 1000 995 965 920 833 45! _IT1 010
191000 1000 1000 1000 1000 1000 1.000 1000 1000 995 987 965 .794 537 140
{continued)

PTO.
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Table A1 Cumulative Binomial Probabilittes (cont.)

d n=20 B =
g
001. 005 010 020 035 030 040 os0 0.60 070 075 080 "090 .95
O 818 35 12 012 0 001 000 000 000 000 000 .000 - .000 000
P93 36 392 069 024 w08 001 ooo 000 000 000 000 000 000
2099, 95 617 06 091 o35 o004 000 000 000 .000 000 000 o0
3 1000 9% 867 Al 25 17 .06 £01 000 000 000 000 000 0o
4000 7 8 W 15 1 081 ot 000 000 000 0000 000 000
5 1000 1000 989 804 617 416 g5 0 002 000 000 000 000 .000
6 1L000 1000 998 513 786 g s 058 006 000 000 000 000 000
7 1000 1000 1000 963 898 772 416 A2 021 001 000 000 000 000
§ L000 1000 1000 990 959 887 596 259 057 005 001 000 .000. .000
9 1000 1000 1000 997 98 952 785 ALZ 128 017 004 001 - 000 000
10 1000 Looo 100p 99999 983 812 S8 AS 08 o014 oo 000 000
1} LO00 1000 1000 1000 999 995 543 748 404 113 041 D10 000 1000
21000 1000 1000 1000 KOO0 999 S79. 868 584 228 102 032 000 000
131000 1000 1000 1000 1000 1g00 99 242750 392 214 087 002 000
4 1000 [.000 1.000 1.000 1000 1000 .o08 979 814 584 383 .196 O1E 000
15 © 1.000 'l‘.OOOl 1000 Looo 1,000 1,000 1.000 994 o490 J62 | 585 370 043 003 .
16 1.000 1.000 1000 1.000 1000 1.000 1000 999 984 §93 778 389 . 133 01
f7 1000 1000 1000 1000 1.000 1000 1.000 1000 996 965 909 . 794 323  q7s
1§ 1000 1000 1000 1000 LOOO 1000 1000 1000 999 992 076 931 608 264
19

1000 L1000 1000 1000 1000 1000 1000 1000 1000 een 99T 988 878 . .64
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Table A4 Cumulative Binomial Probabilities (cont.) B(r gy }': By: 1, p)
£ r=a
¢ ax2s
’- 1 3'e
001 085 - 010 020 025 030 040 050 060 070 075. 050 050 095 099
0 778 277 072 004 001 000 000 .000 L0O0O .000 00D 000 .000 .00 .000
I 974 6492 270 27 007 002 000 000 .000 000 000 000 000 000 000
2 98 873 537 098 032 009 000 000 000 000 000 000 000 000 .000
3 1000 966 764 234 096 033 002 000 .000 000 .000 .000 000 000 000
"4 1000 993 902 421 214 0% 009 00 000 000 000 000 000 000 - 000
5 1000 999 967 61T 378 193 039 002 000 000 000 006 000 000 .000
6 1.000 1.000 981 J80 561 341 074 007 000 .000 000 0000 000 000 000
7 1000 1000 998 891 727 512 1S4 022 001 000 000 000 00O .00 .000
8 1000 1000 1000 953 851 677 274 054 004 000 000 000 000 000 .000
9 1000 1000 1000 983 929 811 425 (1S 013 000 000 D000 .000 000 .000
10 1000 1000 1000 954 970 902 586 212 (034 002 .000. .000 - 000 .000 000
11000 1000 1000 998 980 95 732 345 078 006 .00 000 - 000 000 000
¥ 12 LO00 1000 1000 1000 997 983 846 500 .154 017 003 C.000 000 000 .000
3 1000 1000 L1000 1000 999 994 922 655 268 .044 020 002 000 000 .000
14 1000 1000 1000 (000 1000 998 966 788 414 098 030 006 000 .000 .000:
I5 1000 1000 1000 1000 1000 1000 587 885 575 .189 071 017 000 ~.000. 0N
16 1000 1000 1000 1000 1.000 1.000 996 946 726 323 .149 047 000 000 .000
17 1000 1000 1000 1LOGO 1000 1000 999 978 846 488 .273 .18 002 000 .000
1§ 1000 1000 1000 1000 1.000 1.000  1.000 993 926 .659 430 220 .009 000 000
19 1000 1.000 1000 1000 1.000 1000 1000 ° 998 971 807 .622 .383 033 001 .000
20 1000 1000 1000 1000 1000 1000 1000 1000 991 G10 .78 579 098 007 .000
21 1000 16000 1000 1000 1000 1000 LOOO 100D 998 967 504 -.766 236 03 000
22 1000 1.000 1000 LOGO 1000 1000 1.000 1000 1.000 .99 968 902 463 .27 .002
23 1000 1000 L1000 1000 1000 1000 1000 1.000 KOO0 .998 .993 973 729 358 .26
24 1000 1000 1000 1.000 1000 1000 1.000 1000 1.000 1000 999 996 628 723 222
Table A.2 Cumulative Poi Probabiiti Qe
fa e Poisson Probabitities Foop) = 3 ’!""
y=0
F -
1 2 3 4 5 3 J -8 9 Lo
0 505 819 741 570 £07 549 497 Adg 407 368
1 995 982 963 938 910 £78 844 809 m 136
-2 LOGO 599 99 992 986 am 966 953 937 920
x 3 1.000 1.000 999 598 997 54 981 987 981
4 1,000 1000 1.000 959 55 998 996
5 1.000 1000 1.000 599
6 : : 1.000
(continued)

PTO.
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Table A.2 Cumulative Poisson Probabilities (cont.) Regi=% :;-F
[
2.0 3.0 4.0 50. 6.0 7.0 8.0 9.0 10,0 150 200
0 35 0s0 OB 007 002 001 000" 000 .000 000 000
I 4065 . .199 092 040 o17 007 003 001 000 000 000
2 B7T7 423 7 238 125 062 030 014 006 003 000 000
3 857 647 41 265 JA51 082 042 021 010 000 000
4 947 815 629 440 285 A73 100 033 029 001 000
5 983 916 785 616 A4 301 191 116 067 003 000
6 995 966 889 762 606 430 313 207 130 .008 000
7 999 988 949 867 744 599 453 324 220 018 00!
..  1.000 996 979 G e 729 593 456 333 037 002
9 999 992 968 916 830 27 587 458 470 005
10 )

1.000 897 986 57 901 816 706 583 18 B11
999 995 ° 980 547 888 803 697 1857 - oy

1.000 998 91 973 936 876 792 268 ¢ 9

999 996 987 966 926 864 363 066

1.000 999 994 983 959 917 466 108

1.000 _ 598 995 986 749 297

00 9% s m
000 998 o7 550

BERBER casse et

98l J87

= 989 843

994 888

26 997 922

28 EBEEE uRy
888!
888888858
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E ...

Table A3 Standard Normal Curve Areas

PR =PZsY
Standard ormal density curve

e

Shaded area = B(z) .

T b 01 02 03 04 05 H6 07 .08 09,
=34 {0003 0003 0003 0003 0003 0003 0003 0003 0003 0002
33 0005 0005 -.0005 0004 0004 0004 0004 0004 0004 .Qoo3
=32 0007 0007 0006 0006 0006 0006 0006 0005 0005 .00as
=311 0010 0009 0009 0009, 0008 0008 .0008 -0008 0007 .0007
-30 0013 0013 0013 0012 0012 0011 0011 0011 0010 0010
-29 0019 20018 0017 0017 0016 0016 0015 0015 0014 0014
~28 0026+ 0025 0024 0023 0023 0022 . 0021 0021 0020 | 0019
=2, 0035. 0034 0033 0032 0031 0030 0029 0028 0027 0026
-26 0047 0045 0044 0043 0041 0040 0039 0038 0037 0036
-25 0062 0060 0059 0057 0055 0054 0052 0051 0049 0038
-24 .0082 0080 - 0078 0075 0073 0071 0069 0068 0066 0064
-2.3 0107 0104 0102 0099 . 0096 0094 0091 0089 0087 0084
=22 0139 036 0132 0129 0125 oi22 o119 0116 0113 0110
-2.1 0179 0174 0170 0166 . 0162 0158 0154 0150 0146 0143
-20 0228 0222 0217 0212 0207 0202 0197 0192 0188 0183
-19 0287 L0281 0274 0268 0262 0256 0250 0244 0239 0233
-18 0359 0352 0344 0336 0329 0322 0314 0307 0301 0294
=17 0446 0436 0427 0418 0409 0401 0392 0384 0375 0367
-16 0548 0537 0526 0516 0505 0495 0485 0475 0465 0455
-5 ..0668 0655 0643 0630 0618 0606 0594 0582 0571 0559
-14 | .0R08 0793 0778 0764 0749 01735 0722 0708 0694 0681
-13 i 0968 0951 0934 0918 0901 0885 0869 0853 0838 0823
=12 | .si 1131 112 .1093 1075 1056 1038 1020 .1003 0985
-1 .1357 1335 1314 1292 1211 1251 1230 1210 1190 1170
-10 1587 1562 1539 1515 1492 1469 1446 1423 1401 1379
-09 | .1841 1814 1788 1762 1736 1711 1688 .1660 1635 611
-08 | 2119 2090 2061 2033 2005 1977 1949 1922 1894 1867
-07 | 2420 .2389 2358 2327 12296 2266 2236 2206 277 2148
=06 | 2743 2709 2676 2643 2611 2578 2546 2514 2483 2451
-05 ' 3085 3050 3015 22981 2946 2912 2877 2843 -2810 2776
-04 ! 346 3409 3372 3336 3300 3264 3228 3192 3156 3121
-0.3 3821 3783 3745 3707 3669 3632 3594 3557 3520 3482
-0.2 4207 4168 4129 4090 4052 4013 3974 3936 3897 3859
=0.] 4602 4562 A522 4483 4443 4404 4364 4325 4286 4247
-0.0 5000 4960 4920 4880 4840 4801 4761 4721 4681 4641
{continued)
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Table'A.3 Standard Normal Curve Areas (cont.)
< .00 01 0z 93 04 05 06 E i
0.0 5000 5040 .5080 5120 5160 199 5239 5179
0.1 . 5398 5438 5478 5517 5557 5596 5636 5675
0.2 5793 5832 5871 5910 5948 5087 6026 6053
0.3 6179 6217 65255 6293 6331 6368 " 6406 64413
0.4 6554 6591 6628 6664 £700 6736 6772 6808
0.5 £915 5950 5985 7019 7054 1088 7123 7157
0.6 7287 7291 T324 .7357 .7389 7422 7454 7486
0.7 7580 7611 7642 9673 T704 134 7764 7794
0.8 7881 7910 1939 7967 7995 .8023 8051 8o78
0.9 8159 .BI8S 2212 8238 8284 8289 8318 8340
1.0 8413 8438 .8461 8485 8508 8531 8554 8577
1.1 8643 8665 8686 8708 8729 8749 £770 8790
1.2 8849 .BRE9 8883 8907 8928 8944 pogy 8380
13 9032 9049 9066 9082 - 8059 8115 S13§ 9147
14 9192 9207 8222 0736 9251 8265 9278 9202
L5 9332 9345 9357 9370 9382 9394 9406 9418
16 9452 9463 9474 9434 9495 8505 9515 9525
1.7 9554 9564 9573 9582 9591 8599 9608 9616
1.8 9641 8649 9656 D664 9671 9678 9586 9693 i
1.9 97113 9719 9726 9732 9748 9744 9750 9786 761 9167
20 5772 9778 9783 9788 9793 9798 9803 9808 9812 9517
2.1 9821 8826 9830 9834 9838 9842 9846 9850 9854 8857
22 9861 9864 9868 9871 9875 9878 9881 9884 9887 9850
23 9803 9896 9898 9901 9904 . 9906 9909 9911 5913 816
24 9918 .9920 9922 9935 5927 9928 ° 9931 9932 9934 9936
25 9938 9940 9941 9943 $945 9946 0948 5949 9951 9952
26 9053 9955 9956 9957 9959 9960 5961 9962 9963 5964
27 8955 9966 9967 9968 9969 9970 5971 9972 9973 $074
28 9974 9975 9976 9977 977 9978 9979 9973 9980 9981
29 9981 9982 9982 9983 0084 9984 9985 9088 9986 2986
30 bog7 9987 9987 9988 9988 5980 998y 9989 5990 9990
3.1 9990 . 999] 9991 9991 9992 9992 9992 9992 9993 9993
3.2 9993 5993 5994 9994 9994 9994 9994 9995 9995 9995
3.3 9995 .9905 9995 9996 9996 9996 9996 9996 9996 9997
34 9997 v 5997 9997 9997 9997 9997 9997 0997 9997

(400)



[This question paper contains 8 printed pages.]

Sr. No. of Question Paper : 7917 GC Your Roll No................
Unique Paper Code : 12271101

Name of the Paper . Introductory Microeconomics

Name o-f-t:he Course : B.A. (Hons.) Economics

Semester i |

Duration : 3 Hours | Maximum Marks : 75

Instructions for Candidates

.. Write your Roll No. on the top immediately on receipt of this question paper.
2. Question No. 1 is compulsory.
3. Attempt any four questions out of question 2 to 7.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

ol & fow e
1 wm-w%ﬁaﬁﬁwﬁqwﬁ%ﬁﬁawwmaﬂmﬁma
2. WS g 1 sfEd @

& w2%7ﬁ%ﬁﬁ4qﬁ%wﬁﬁm

4. TF UTH-9F FT IoK aﬁm%ﬁ%ﬁwwﬁﬁﬁq,ﬁ%ﬁwmmww
8 BT =Ry |

1. Attempt any five parts : (5x3)

(1) Assume that Rahul’s income is Rs. 48,000. He can purchase 6,000 units of
cheese or 8,000 units of bread if he spends all his income either on cheese
or on bread. Find the slope of his budget constraint if we measure the
quantity of bread on the horizontal axis and the quantity of cheese on the
vertical axis.

PTO.



(i) What will be the relationship between two goods whose cross price elasticity
is negative ? Why ? '

(i) How does increase in price of flour affect the equilibrium quantity and price
of bread ? Ilustrate using diagram.

(iv) Ifa perfectly competitive firm has a total cost function C =450+ 15q +2¢?
(q is quantity produced by the firm). The market price (P) of the commodity
is Rs. 115 per unit. Find the quantity produced by the firm.

(v) Explain output effect and price effect 0n a monopolist’s total revenue.

(vi) How is the rental price of a factor different from its purchase price ?
fn=sl e s = i -

(i) W?ﬂfﬁqaﬁr@aﬁmmooomﬁ%nwaooomﬁwﬁm 8000 gehrE
mﬂaaﬂam%wﬁwaﬁmﬁwwaﬁwaﬁm%w&
& S ol W s 3 o e ) SR T g o W o 9w
m%ﬁwm%maﬁmaﬁm

(ii) aa@aﬁ%mﬁmwaﬁﬁﬁiﬁﬁaﬁw&?ﬁ@?ﬁaw
TIwy?

(i) a@aﬁﬁmﬁwmﬁﬁ%a@mwﬁmaﬁﬂﬁwwmﬁm?ﬁa
AT =Ry |

(iv) uﬁw@wﬁzﬂwﬂwﬁaﬂa@mﬁwc=4so+15q+zqz (q i =
Wﬁwén)a@aﬂwaﬁqﬁuﬂq&wﬁrwﬁ%mﬁmw
T I A= AT R |

(v) U TRty & o W%memmaﬁwaﬁmr

(vi) Wmﬁwﬁwﬁhaﬁﬁw%ﬁm%?
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2. (i) Why is the production possibility curve bowed outward ? Tllustrate using a
diagram. Do all the points on the production possibility curve represent the
efficient level of output ? Explain. (5)

(i) What is consumer surplus ? Assuming that the market for laptops is in
equilibrium. Suddenly an invention reduces the cost of desktop computers
which reduces their market price. Show the impact of this change on the
laptop miarket and the change in consumer and producer surplus in this
market. : ‘ (%)

(i) Can the government easily distribute the burden of payroll tax as
per their will between the firm and the worker ? Explain using suitable
diagrams. (5)

(i) ST @I oo AR A TR I G T e 2 7 Ry w9 |
HAN I FHE 9 & weht fag ST & oow =% 6 e £ ? @
T |

(ii) mﬁwwﬁww%?mﬁrﬁﬂqaﬁﬁqﬁv%wﬁw%l FE
TEHAIH GUR hl I8 ¥ IR HFGeX T A0 F B W 2 B wmr
Mﬁmwﬁmﬁ%uﬁqﬁaﬁwmﬁwﬁq%mwwm@mw
T AR H IIE e 9 SeeE snfies ¥ 9o qRasT B ?

(iii) =T WER aﬁm%mmww%wﬁ,ﬁmmmgw,
T F gt © ¢ IR REl 9 wew ¥ wwren 96w |

3. (i) Consider a market in which the demand and supply functions are respectively
given by : P = 100 — 0.2Q% and P = 40 + 0.1Q® (Where P is price and Q¢
quantity demanded and Q® quantity supplied.) Determine the elasticity of
demand and supply at market equilibrium. (6)

(i) If government imposes an effective rent control in a city how its impact will
be different in short run and in long run. Using suitable diagrams explain why

the impact is different in these two different time periods. (5)

P.T.0.
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(i) Using Laffer curve explain the relationship between size of the tax and tax
revenue. Also explain the relationship between deadweight loss of taxation
and the size of the tax. (4)

(i) Teh SR &l wHea T Sifog o/ w0 991 9| el %ae: 39 YR 27 I
8 P=100-02Q¢ @ P=40+0.1Q* (F&f P & Q! W =& w1 @l
Q* 9ft =t W 2 1) AR Age @ g W WA 6 | qe g @ e s

. I |

(i) afe WHER Tk WER A T TR R0 AN aRd B R ST W Sedshie w
<eed | g weR 3T B ? She el o s e B oA X g A
o= wmEl =% =reEn i |

(iii) AT G Tl TEAATT FRd Y T D SR T F A W B diel ST UG W
& AR T AR B & Gael ol Sy |

4. (i) Seema decides to shift from auto rickshaw to taxi for her daily commuting
from home to office because of increase in her income. If the price of
auto rickshaw travel decreases then what will be the change in the
demand of auto rickshaw. Explain using income effect and the substitution
effects. (7

(i) Suppose you take a job that pays Rs. 5,00,000 per annum. You can put this
income in a savings account that pays you an annual interest rate of 5
percent. Use Indifference curve and budget constraint diagram to show how

your present consumption changes in each of the following situations :
(a) Your salary increases to Rs. 1,00,000.
(b) The interest rate on your bank account rises to 10 percent.

(¢) Your salary hike and increase in rate of interest takes place
simultaneously. (3+3+2)
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(i) dFT @ Sgw F I ¥ WA THRR D G S I I & e siter Rew =
T SR T HOT T 0T ot ® | Al sty Rew &t Amn o A &
Bl WY T @ 3iter Rermn amn @it 7 A o gRanw B0 P O3 WWE T
HieATa YT ot e ¥ ARl g |

(i) w AT fF T g Al Wer o od 2 el st 5,00,000 T A
o Fret € 1 AR 3T @ S A w=d § @A © A S9! S5 i wia a9 @
W A A A WG Bl B | SHDAA Gk TS qWe @1 Rl TR FRd §Y
Zaiey A R S SRR T e ¥ e Raf ¥ e aRad 2 o

(3r) st @ 1,00,000 T WA TG WA B |
() =t 9 R St 10 Wiwd Ae B8 S e |

(w) smus de gfe T W W ¥ gfE v A B €

5. (i) Derive the short run supply curve of a competitive firm with the help of
suitable diagram. (4)

(i) Given the long run average cost curve, if a perfectly competitive firm
is earning positive economic profit in short run, what will happen in long
the run? Will the firm continue to earn the same positive profit or not ?
Explain. 5)

(i) Suppose that there is a perfectly competitive industry where all the firms

have identical cost curves. The representative firms total cost is given by :
TC = 400 + g + 2q (where q is the quantity produced by the firm)
Market demand and supply curves are respectively given by the equations :

Qd = 8,00,000 — 4000P and Qs = 5,00,000 + 3500P (P is market price and
Qd is market demand and Qs market supply.)

(a) Find the equilibrium market price and market quantity.

P10,
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(b) Find the firm’s profit maximizing level of production, total revenue,
total cost and profit at this equilibrium. Is this a short run or long run
cquilibrium ? Why ? (2+4)

TC=400+ ¢ +2q (ﬁqﬁmﬁqwmaﬁwét)w%m
U i T s T et e e o 2 Qd = 8,00,000 — 4000P T
Qs =5,00,000 + 3500p (P ISR ot i, Qd ISR = 10 w1 Qs e =5y
9T itz F)

6. (i) Explain why does market failure arise when a firm has monopoly power in

(ii)) The demand curve for a monopoly firm is given by Q =100 - 0.5 B
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Marginal cost (MC) of the firm is constant at Rs. 40 and total fixed cost is
Rs. 300.

(a) Calculate the profit maximizing price, quantity, profit and deadweight
loss for the monopolist, if the monopolist charges uniform price from

all the consumers.

(b) Assume that the monopolist can practice perfect price dlscrlmmatlon

Now calculate his profits and consumer surplus ? (5+3)

(i) Wmff‘ﬁaﬁqﬁ%mmﬁnaﬁwaﬁ%ﬁw SRl a1
Waﬁ%?ﬁwﬁwmﬂmﬁ%wwwww%

) WWW%?WW%WW#WM
W%waﬁﬁwmaﬂ%%mmaﬁfﬁwwm?

(iii) v TR W & AT 5w R T R Q=100-0.5 P & =i
AT T FRER 40 €0 | 7o e Rer I 300 T 2 |

(a)w@m@wﬁaﬁaﬁmaﬁwa,m,m@s@wgﬁmmﬁm
HIY |

(a)mﬁﬁqa%wﬁﬁm%mm%ﬁﬁmmmﬁﬁmw
Reafcy % Swsirerr siftrerar foramn Bvm 7

7. (i) Derive the demand curve for labour in a perfectly competitive factor market,

assuming that commodity market is also perfectly competitive. (5)

(i) Explain how the marginal product of one factor depends upon the
quantities of all other factors used for the production. Also explain how the
change in the supply of one factor will affect the equilibrium price of other
factors. (5)

PLO.
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(ii) Explain and show the i impact of (a) Increase in output price and (b) labour

saving technological change, on labour demand curve, (5)
(i) uﬁaﬁwwmw#qﬁﬂﬁﬁrﬁméﬁ FH ST AN q5h A HY |

(ii) maﬁﬁqﬁ%@wwﬁ%mmwma&mﬁ
mmﬁaﬁww%ﬁﬁﬁﬁaﬁﬂlmwaﬁﬁwaﬁﬁv%ﬁmm
ﬁﬂﬂwmﬁqﬁﬁqﬁaﬁaaﬁ% mmaﬁwaﬁﬂa%m
NI BT |

(iii) w%wwwﬁmaﬁaﬁ@wﬁﬁq( ) Sefew weg =t e
e T (b) 9 TR T T R

(3100)



[This question paper contains 2 printed pages]
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Name of the Course ; W
Semester : 3 F—— ?’

Name of the Paper : British Literature: 18" Century
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(Write your Roll No. on the top immediately on receipt of this question paper.)
Answer all questions. Question Nos. 1 to 3 carry 10 marks each,
Question Nos. 4 to 6 carry 15 marks each.

I Identify, contextualize, explain, and critically comment on the following:

a) “You had the leisure to entertain a Herd of Fools...How can you find delight in such
Society? It is impossible they should admire you, they are not capable: Or if they were, it
should be to you as a Mortification; for sure to please a Fool is some degree of Folly.’

OR

b) ‘T’ll give you your Revenge another time...I’d no more play with a Man that slighted his
ill Fortune, than I’d make Love to a Woman who undervalu’d the Loss of her Reputation.’

10

~ 2. Write a short note on:-
a) The Grand Academy of Lagado
OR
b) The nature of the Yahoés 10

3. Identify, contextualize, explain, and critically comment on the following:

a) This mournful Truth is ev’ry where confest,
SLOW RISES WORTH, BY POVERTY DEPREST:
But here more slow, where all are Slaves to Gold,
Where Looks are Merchandise, and Smiles are sold,
Where won by Bribes, by Flatteries implor’d,
The Groom retails the Favours of his Lord.

OR

b) Let not Ambition mock their useful toil,
Their homely joys and destiny obscure,
Nor Grandeur hear, with a disdainful smile,
The short and simple annals of the poor. 10



4. a) Analyse the Proviso or ‘Bargain’scene in 7he Way of the World as an attempt by the
lovers to define an achievabte ideal in a marriage. 1

OR

b) Discuss the title of the play The Way of the World in relation to the social problems of
Restoration society. 15

5. a) Discuss how in Book ITI of Guliliver’s Travels Swift sets the example of Lord Munodi
against the follies of progress committed by the Laputans. ‘

OR

b) With reference to the Voyage to the Houyhnhnm’s land, examine how Swift uses
Lemuel Gulliver as both instrument and target of his satire, 15

6. a) Analyse how most of the humour of Sterne’s novel, Tristram Shandy is a result of its
fictional playfulness and inventiveness,

OR

b) Critically comment on the assessment that Tristram’s autobiography is actually a
satire on the very idea of autobiography as an impossible form, 15
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SI. No. of Ques. Paper , 793¢ GC

| Unique Paper Code - : 12031102 _
Name of Paper : European Classical Literature
Name of Course : B.A. (Hons.) English
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(Write your Roll-No. on the top immediately on receipt of this question paper.)

~ Attempt all questions,

Question Nos. 1, 2, 3 are of 10 marks each,
Question Nos. 4, 5, 6 are of 15 marks each.

SECTION A
L. Write short notes with critical comments on the following:

(i) Funeral Games in The Illiad.
Or ,
(i) Delphic Oracle in Oedipus the King.

2. (i) Megadorus
Or :
(i) Explain and critically comment on the following:

“Day or night, I've not had a moment’s peace with the treasure on my mind
at last I'm going to sleep.”

i

...........

10

3 (i) “The sailors, in surprise, kept on plying their oars and spread their sails, trying to run -
on with the help of both; but their oars were hampered with ivy, which twined up the

- blades in curling tendrils, and adorned the sails with heavy clusters.”
_ ' Or
(ii) Horace’s views on poetry in Satire 1.4.

SECTION B

4 (i) Examine the salient features of an epic with reference to The Illiad.
| Or ‘

10

(i) In The llliad, Achilles’s ﬁlotivation to action is pride and honour. Do you agree? Give

a reasoned answer. 15

P.T.O.
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5. (i)
(i)

6. (i)
(ii)

2 .

How does Sophocles use the tragic elements of hamartia and peripetia in Oedipus the

King? Illustrate with examples from the play.

Or
Discuss the themes of sight and blindness in Oedipus the King.

Comment on Plautus’ treatment of slavery and freedom in The Pot of Gold.
: Or i |

Ovid’s story of Procne, Philomela and Tereus is a horrific tale of rape and revenge.

15

Elaborate.

15




. This question paper contains 2 printed pages. Your-RollNo. cviwiciissiiivivassinne
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Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

Attempt all questions. _
Question Nos. 1, 2, 3 are of 10 marks each.
Question Nos. 4, 5, 6 are of 15 marks each.

SECTION A

1. “There are three who own no property,
A student, a slave, a dependent woman:
The wife of a slave, you are his now, my dear;
A masterless slave wench, you are now slave wealth!”’

Contextualize the above extract and critically comment on the power relations in the world

of The Mahabharata . v 10
Or
Critically comment on the “Prologue” to Abhijnanasakuntalam. 10
2. Comment on Kannaki’s apotheosis in “The Book of Vanci”, 10
Or
Comment on the valorisation of the king in “The Book of Vanci”. 10
|
3. Critically analyse the role of Maitreya in Mrichchhakatika. 10
i Or
What is a prakarana? Discuss with reference to Mrichchhakatika. 10
SECTION B

4. Do you agree that “The Book of Vanci” is more about masculine enterprise of war and
imperial expansion than feminine values of self-effacement, forgiveness and chastity? - 15
Or ‘

P. 1. 0.
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S

2

In Mrichchhakatika, Stidraka gives us an unconventional hero in Charudatta. Unlike

Kalidasa’s protagonists, here the hero is not royal but a man ‘whose profession is
inconsistent with his caste. Similarly, the heroine is not a coy maiden but a public woman
who exercises a sexual/social choice by choosing merit over money. Discuss. 15

Distinguish between the Sakuntala episode in The Mahabharata and in
Abhijnanasakuntalam. : . 15
. ' Or _

Discuss the evocation of the virg (heroic) and the Srngara (erotic) rasa in

Abhijnanasakuntalam. ; | 15

The Dicing episode provides a critique of the heroic ideal in the Mahabharata. Critically

comment. 13
Or
If Arjun is the conventional hero of the epic, Karna is a tragic hero. Do you agree? 15
S 7 | 3800
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EY AMFF-T@ W Frew | 39 & g v o |
aAfq T SHiaw W W | g T 7dsww @ |
el @% A Wife a@H | 5 afg-ent mik fafa | o
e T W WS | e T AR SraAfg S |
98 O ¥t fafy e ek | 99 98 98 AR w2 et |
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arerar
St 7 2 Wi gy g | e % v ww e EE |
ufe fafa o7 foem &t e | e U i 9fie wEmeT )
3T} Hafg 71T 4 € | fieis wafe oif S st |
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Y FI HIS TIAM | T T B &% T6T | | .
g gt sgR afe firels | st afed wufs of wors | | 8

6. ﬁ%ﬁ@amﬁﬁﬁqﬂqﬁﬁwimﬁﬁ&raﬂmﬂﬁwﬁﬁﬁaﬁﬁm

(%)

(=)

T HY A9 W @ W R HG |

I GEU W e 3 wg =7 2w

gul 3 gEm w St f & g

T A 79 GRS & QA% qT T G | (q@! )

AT
STEl-STel W o | afE-af s wE

STRI-STel YheTehTT 31T | afé-afe farefi-a | |

foh ol srwear MR | agafr fea-afy AR ) )

STEI-ST8l T | qafd FHe-SE | |

SRl ©g ¥ WAR | afg-afs sifra-fagw |

SRI-ST8l Hied g | qaly Hed-5 @G | | (Tl 1)

STHIeT B uree e |

T, TENIS AeRTd, SE-ar g |

ﬁ’tmﬁmﬁé’ﬁ%?ﬂ%qmﬁ-ﬂaﬁ!

q I AT A7ME 1, At g e |

HAgh Toh R AT o € FuE TR W |

Hed Sty T @ o W, FR T wad | (a1 gav FE)
' AT -

T Ste eRat qreaid |

AT e W AR, 9y weEt peerE @ |

forg X e o S, dat i g 4

U Ty arEt uR =t e smia et @ )
"X X 9 AReR TR, o wo st ) (4TaT- i) 6x2=12

4000



This question paper contains 2 printed pages.

SI. No. of Ques. Paper

Unique Paper Code
" Name of Paper

Name of Course
Semester
Duration

Maximum Marks

(59 -9 & e & S G T AR w@E R g sgmars frad )

1, mﬂmlmaﬁmm-mnwaﬁﬁm

: 7924 GC
: 12051101

: Tt wirom ot SweRt fef e e
: B.A. (Hons.) Hindi

H |

: 3 hours

: 75

Tt g¥7 S 81

Agar

fat =1 oref e gY fe=t & W ®9 W faEr i |

2. fe<t afedl = dfera af=a SifST)

fedt w1 e W T e

3. T ik fafr ¥ sty W S S|

HYAT

ﬁﬁaﬂwﬁﬁméﬁ@mmmmwm|

=)

Your Roll Np. ...c.....ilveevenen

14

14

14

4. oA Al w1 faEE Sa 5 36 W USY 919 3 fafeEr & W i w@ifed HE |

AT

e fafy weh eeyl faft @' — witen s |

5. frefafgd & 4 f @9 W S feooi fafew
(F) Hueh 99T o ®9 | fg=<l

- (@ &< w1 fEa T @w
@ faz fafy = o=

14

P.T. ©.



s .sf?;}"-}f '
7924 g

'(EI) immﬁi%rﬁmmﬂm
(@) i fot |

6,6,]

4000



This question paper contains 4 prinicd pages]

Roll No.

J’S' No. of Question Paper : 7949 A
. Unique Paper Code - - : 12311104 . et R G
~ Name of the Paper =~ : Social Formations lflhd"Cult_ural 'Patt‘e_r'n:*s of the Ancient World

~ (New Course)

_Name of the Course .+ B.A. (Hons.) H_is’t_q_ryf o
Sémegter ] : | I :
Duration : 3 Hours - ' s Dl con s 1 Mt Miarks ; 75

' (Wrzte your Roll No on the top zmmedzately on recezpt of rhls quesnon paper.)

(mwwa‘rﬁmﬁﬁwﬁ{qwﬁuﬁawmmwfﬂf@m)

Note : — Answers may be wntten ezrher n Enghsh or m Hmch, but the same medlum should

be used throughout the paper ‘

froquft —ww—wmwaﬂsﬁm%ﬁﬁw@@wﬁaﬁqmuﬁm
WW@%’T@WWI

L R ' o _Attempt any. fawf'-qpcs‘iioﬁs.'

| 5 | A?l -questions 'car'ry eqﬁal mar.ké

m’f = wﬁi % Ei ?ﬂﬁm
‘v'm"f sl % BW AM €

q s .Evaluate the 1mportant stages n. the evolutlon of humankmd
'-mﬂa a?qﬁr ﬁ ﬂ%ﬁ{ﬁf e q@m ﬁﬁmi

e e - | s fEaid 4 Sl ‘ -_ ‘ 3 .‘ P.T-O-_




L

2 ) Sk .‘,' 794
In what Ways did the Mesolithic adaptations contribute to the emergence of settled farme
comrﬁumﬁes ? 'Discuss in detail. .
nﬂwmemmwﬁ?ﬁs*@memﬁmﬁm 2 fawre
i aem:

There can be no mono—causal explanahon for the begummgs of food productlon In the conte

of this statement analyze the reIevant theones and debates ke

wmﬁ%m%maﬁe@wﬁamﬁQW| wa&m%m
ﬁquaeﬁmeﬁwﬁma‘ifﬂﬁfr&m i S

What do you understand by the tem ‘Neohtl‘nc Revolunon g Explam the varlous fearures ¢

the Neohthlc cultures of South West Asm and Europe

emmmﬁr w—;%mwwﬁ% ?afewvﬁanqﬁmam@u#}qaw

eﬁﬂ%ﬁh%g@aﬂaeﬂﬁaﬁmaﬂﬁm

-Examme the processes of urbanization and state formation in Bronze Age Chma/Crete/Egyp1

Mesopotam:a.

,Wﬂﬁ?ﬁﬁyxﬂ@mﬁmwwﬁmaﬁm@wqﬁw
.‘ﬁf‘mf

o Dlscu_ss the :elati'onshjp between ec'bnemj, state_-stlucﬁu‘e? and religion with referenee' to am

: one of the_ foilowihg-:

(a) Mesepotalﬁ_ia '([-Jp to the Akkadlan .Empirej'.
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(6 Egypt (Old Kinedom)
o) .C_.hina (Shang)
- (d) Eastem Mediterranean (Mmoa.n)

.ﬁ%ﬁemwﬁmﬁﬁaw Wmawaaﬁﬁamma
.-'(31) fr@r@r%ﬁm (st s ) -

;'(G)W(WW)

';(H)Eﬁﬂ(w) |

‘(,-;:) ot sy (Frier) .

: 'Rewew the sallent features and ev1dence of nomadlc pastorahsm in South West Asia in the

"thlrd and second mﬂlenmum BCE

e gwmwmﬁﬁmmmﬂmmﬁsﬁﬁﬁﬁwﬁ
e m&a‘rﬁww I |

Write short notes i)_n a;lynuo (jf_‘l'_the_f(:)ll»?\g,in‘g :
"i (@) -:P.aleollith_ic Tool Teehnelogy =

. (b)-' _Piant ngegﬁgaﬁa{_. e

(C) .Brenz_e Age'

(d) Advent of Ion. -
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[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 1282 G Your Roll No................

Unique Paper Code : 231102

Name of the Paper : Social Formations and Cultural Patterns of the Ancient
World

Name of the Course : B.A. (Hons.) History (Course II)

Semester |

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

i e O o (L

1 T Y- @ fen & o Ry e iR eI W e s R |

2. sl o) 9=l & IR G |

3 WA D AFTTE

4. wm—wmlwmm%ﬁﬁwﬁwwﬁﬁﬁm,?ﬁﬁﬁﬁﬁmww
8 B ey |

1. Examine the interplay between the biological and cultural evolution in the origin
of humans in the Pleistocene epoch.
g 9§ wma Safa & Jee Sk wieiies e o weR - fhar @ 9der S |

2. Examine the main features and significance of the Mesolithic, cultures.

HLAITOT GEHiadl & AT A& ST Aeed T GASTUT HIY |

PTO.
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3. Account for the beginning and spread of the food producing economy in West
Asia.

ufFerst oftrr % @rediaesit IfeEE & URY 3Rk AR @ wror ARl

4. Review the evidence for the beginning of agriculture in the Neolithic period.
SN FA H P B AR R @R w9 D |

5. Examine the various factors leading to the emergence of Bronze Age civilizations

in Mesopotamia (up to Akkadian Empire)/Egypt (Old Kingdom)/Eastern
Mediterranean region (Minoan)/China (Shang).

HEGI T3 - FArerfiar ( STeFeRICT WS ) /firer (STt ST/t spremmnR
(ReltseT) /<0 (i) - & I & fafrr st @ wderor iR )

6. Discuss the main features of slavery in Ancient Greece.
T G TR @ W w5 e SR )

7.  Analyse the nature of Athénian Democracy and it economic basis.

@ﬁmﬁ%wamﬁaﬁhmaﬁﬁaﬁﬁqr

8. Write short notes on any two of the following :
| (i) Homo erectus and the hand-axe tradition
(i) Neolithic Revolution
(iii) f?oronze Age
(iv) Oligarchy in Sparta
Freafeife fed @t i o forkerg -
(i) eFm R IR - HER T
(i) TR wify
- o i) e g
(iv) et ¥ sreae=

(200)



[This question paper contains 2 printed pages.}

Sr. No. of Question Paper : 1281 G Your Roll No....cccvaeeeens
Unique Paper Code . 231101

Name of the Paper : History of India — I

Name of the Course : B.A. (Hons.) History

Semester <3

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt four questions in all.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

sl ® fog Fda

L =g ge-vE @ Pren B e Ry e iR e w s s ffeg )

2. & OR W & IR <A |

3. @l vl D G 2 |

4 = V- SR S W BA R v s ¥ A, AT T IR 61 A v
B B =R ) ‘

1. Describe the importance of sources for the reconstruction of Ancient Indian history
(in the period of study). f
T R R R 3 Al @ wew W aui i (e @ e #) )

2. Discuss the features of Mesolithic cultures in Indian subcontinent with special

reference to rock art.
et el & R west ¥ T STEIE it HeR Ty weptal 1 sl 1 v

ST |
PT.O.
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3.

Discuss the regional features of Neolithic cultures of India.

R S TSN R S Sty Rdwaray o v R

Examine the various theories regarding the origin and decline of the Harappan
Civilization.

BIUE XA D IIHT 3R GO A TE faftT sremsl =1 v@em 9w |

Discuss the social and economic life as reflected in the Rig Veda.

srae ¥ yifefva e v e aRRafedY = frwewor <6 |

Examine the social and economic milieu for the rise of the religious movements
during the sixth century BCE.

39, I3 Tt ¥ IR aﬂﬁﬁs.aﬁﬁsrﬂ:d%?nwﬂ%ﬁﬁ'qa:3nﬁﬁ5'qﬁ%3rzﬁrqihrW‘aﬂﬁﬁ&r

Assess the significance and spread of Megalithic cultures in Deccan and Central
India.

EHEEH'QE:TEII%ﬂﬁﬂiﬁT7ﬁﬂquUI?Rj#ﬁﬁfi%‘ﬂg?a'3ﬁ€fﬁﬁﬂi'ﬁﬂ'ﬂ?ﬂﬁﬁﬁ'aﬁﬁ§aI

Write Short notes on any two of the following :
Frefafes % 3 fdt @ w aftre Rorh Ry -
(a) Harappan Town Planning

BWE TR Faee
(b) Malwa Culture

Tl Hepha
(c) Tenets of Buddhism

dlgae & faa .
(d) Sangam Literature

W it

(200)



This question paper contains 2 printed pages. : Your Roll No. ........... e

L

5L No. of‘Ques. Paper . 7949 | | GC
Unique Paper Code : 12311103

- Name of Paper : History of India - I

Name of Course  :BA. (Hons.) History

Semester : I
Duration i : 3 hours

Maximum Marks 1 75

(Wite your Roll No. or the top immediately on receipt of this question paper. )
G997 F Fre & F9¢ @ 7 Fralfa = WW.WfﬁﬁiﬂU

- Note:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper. -

femuit— g7 oAU F IW HAF A fe=l fFE g oww F e F?faﬁrmﬁsaﬁw
RIETH TF & &1 ey ‘

Attempt any four questions. All questions carry equal marks.

fodt a1 T & I G @ T ¥ oF @ §

1. Write an essay on sources for the reconstruction of history of India from the earliest times
up to 600 BCE.

mﬁmmﬁsooﬁuﬁm%maﬁgﬁwmﬁgﬁw%ﬁﬁ%ﬁﬁwwﬁav
fafed |

2. [Examine the sequence, distribution, and technology of the Palaeolithic cultures of India.
| R S QNN GEhfadl o S, faw w awts @ e S

3. Discuss the subsistence pattern of Chalcolithic cultures of India.

"I AT SephE % frate ded @ Tt SR

4. Trace the developments in. agriculture, craft production and exchange relations in
Harappan Civilisation.

BEwl Yoyl ¥ Y, e sowred wd fafmy wee ¥ gu faw @ Yty SR |

5. Review the social organisation and rellglous bcllefs and practices in the urban phase of
' Harappan Civilisation. '

3muw$¥mﬁﬁ1ﬁmﬁmmqﬁ’wﬁhmﬁwaﬁwmaﬁﬁﬁn %
- - P.T.O
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6. Analyse the nature of Later Vedic (1000-600 BCE) polity and gdciety.
mém_(lmmﬁoomﬁ)mwwm%mmﬁmaﬁﬁm

7. Assess the significance of Megalithic cultures of Central India, Deccan and South Indig,

wwm,amaﬁwafmmﬂwm#@ﬁﬁ%mmm%m |

8. Write short notes on any two of the following:
(a) Early Indian notions of history.

(b) Relevance of studying landscape and environment in early India (up to 600 BCE).

(¢) Mesolithic Rock Art and Funerary Practices.
(d) Early Vedic Reli gion (1500-1000 BCE).
Frefefim & & it @ w0 s o 2R
(a) RIS wReta sfer %t smarom

(b) IRfwe W(sooémqﬁam)ﬂwﬁwhm%amaﬁ,mm
(c) eI Yot Fen we iy wog | '

(d) YHafes o (1500-1000 S qd) |

i g |

' 4000

(200)
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SI. No. of Ques. Paper  ; 9002 GC
Unique Paper Code : 11011108

Name of Paper . Introduction to Media and Communication
Name of Course : B.A. (Hons.) Journalism

Semester B |

Duration : 3 hours

Maximum Marks : 75
(Write your Roll No. on the top immediately on receipt of this question paper.)

All questions'are compulsory.

1. How is everyday life structured around media consumption and production? Discuss with

special reference to the role of social media. . 15
Or '
Internet has redefined the speed of access to news globally. Elaborate the statement with

examples. 15

2. How is Habermas’s idea of the Public Sphere crucial for the maintenance of democracy? In
the present context evaluate the role of the media as a Public Sphere.
Or
Explain normative theories of the press. Which one do you think explains the
contemporary media scenario best? Give a reasoned answer. : 15

3. What are the linkages between engineering consent and manufacturing of public opinion
through propaganda in the Direct Effects Paradigm? Explain them.
=i Or
: Selective processes are a useful framework to understand why media has limited effects.
Discuss the statement. i 15

4. How does the media frame news? Discuss media’s agenda-setting role with special
reference to political issues.

Or ;
Critically comment on media effects paradigm. ' 15

5. Do you think media texts are polysemic? Discuss the different types of audience reception
= with reference to the Encoding/Decoding Model. 15
, Or
¢ Write short notes on any two of the following:

(a) Twitter
o P.T.O.
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(b) Non-verbal Communication

(c) Cultivation Analysis
(d) Ritual Model |
(€) Publicity Model.

400

(200)



[This question paper contains 2 printed pages.]

Sl. No. . 9001 GC  YourRoll No.....
Unique paper code : 11011103

Paper :  INTRODUCTION TO JOURNALISM

Course :  B. A. (Hons.) JOURNALISM |
SEMESTER i, 5 e e

Time: 3 Hours Max. Marks: 75

(Write your roll no. on the top immediately on receipt of this question paper)

Attempt all five questions.All questions carry equal marks.

1. Explain the format for writing a news report on the basis of the following criteria: ;
N Bvered pyramid ’
(ii} 5SWs &1H
(1i1) Maj or types of leads
OR
Discuss the ethical guidelines‘that journalists must keep in mind in their professional
endeavours. Give examples of media deviations from ethical norms.. (15)

2. Discuss the importance of objectivity, balance and fairness in news coverage giving
snitable examnles.

OR

Trace the genésis of yellow journalism, Discuss the content of today’s newspapers in
relation to the characteristics of yellow journalism. (15)

3. Discuss the importance and functions 6f headlines. What are the points to be kept in mind
while crafting headlines.

P.T.O.
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OR

Discuss the principle differences between print and broadcast journalism in terms of
content, form and writing.

(15)

What are the avenues available for citizens to participate in journalism? How can citizen
journalism complement mamstream Jjournalism?

OR

Write an article for the newspaper, with a focus on any ONE of the recent events, not '
exceeding 500 words: : ; .

- (@) De-monetisation - - _ Ty
(i)  Rio Olympics
(i)  Pollution in Delhi. | . , (15)

Wrife short notes on any TWO of the following:
(a) Attribution

(by  Robert Gunning: Principles of clear writing
© Y Embargo

(d) Yellow Journalism

(¢)  News archives (7.5x 2)

(400)
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Sl No. of Que&. Paper 7935 ' GC
Unique Paper Code :12101102

Name of Paper : Logic '

Name of Course * B.A. (Hons.) Philosophy

Semester B |

Duration : 3 hours

Maximum Marks : 75

(Wme)mRoﬂNo.andmopbmmm awmoa};tof%@mﬁmm)
me*ﬁa#wmﬁ#n#ﬁ#ﬁamwmmw:)

NoTE:— Answers may be written either in English or in Hindi; but the same medium should be

1.

used throughout the paper.

Attempt all cjuestians.

T4 7 F I e
Attempt any three of the following:

sentences in language.

(ii) Can a valid argument have a false conclusion? Explain with examples. Under what
conditions.can an argument be called “sound”? -

: (iii) How do you recognize an argument as distinct from an explanation? Discuss.

(iv) Explain and illustrate the difference between a deductive and an inductive argument

 Frefeafea 3 4 frt 7 1 s dif

(iii)mwgﬁsaﬁmﬁfw%&mﬁ“ﬁ?ﬁ%mﬁﬁm

_(iv)ﬁmwmﬁtmmmgﬁs%maﬁmmﬁawaﬁﬁqn Ix3=12

Altcmpt any three of the following:

(1) Explain in detail the basic functions of language.
' P.T.0:
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(ii) What are the different kinds of definitions? Explain stipulative and lexical definitions -
with example.

(iif) Discuss agreement and disagreement in belief and attitude.

(iv) Discuss connotation and denotation of a term and the relatlonshlp between them.
frfafed & 9 sl i =1 s e

(i) AT % q@d FEl F frega e wifi |
(i) wﬁw%ﬁfwmﬁqﬁi?mamaﬁaﬂwqﬁwﬁaﬂmm
ST SHIfT |

(iii) forgamer SR W F wewfh sk ewwERfy W fadew HfC)
(iv) 98 % Tonef Sik frdwr o fadem ST | s gy W TRy 4x3=12

3. State the contrapositives of any two of the following propositions:

(i) All non-singers are non-artists,

(ii) Some professors are non-orators.

(iii) Some non-citizens are not non-residents.

Frafafea sfaafal (qehamel) & & frt & & shRads dfae

(i) |t F-MTF F-FHAH T |

(ii) FO WEATTF F-a51 & |

(i) FS F-ATME 1-Fraret T8 T ' 112x2=3
4. If “All snakes are reptiles” is True, what may be inferred about the truth or falsehood of

the following propositions? (Do any two)

(i) - All non-snakes are non-reptiles.

(ii) No reptiles are non-snakes.

(1ii) Some non-reptiles- are snakes.

g ‘@t Wit B T WO ¥ T ﬁrﬁnﬁﬁaaa%am’faﬂm/mm%aahﬁ
R A A S webell 7 (FE QA HY)

(i) @t | F-YHEE W ¥ )

(i) g TET WO AT =@ Y

(ifi) FT F-THE TR | T | 212x2=5
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5. What do you understand by existential import? Explain.

TS a0 & a9 a7 gy 32 SATEAT HHIT | -
Or (319an)

Explain distribution of terms with examples.

ﬁ#mﬁwmﬁmﬁml

6. Translate the following into standard categorical propositions: (Do any three) *
(i) Cricketers are never poor.
(ii) Only students are hardworkin g.
(iii) Insects are not all poisonous.

(iv) There are honest politicians.

ﬁwﬁr@aﬁmﬁamwﬁaﬁwmﬁﬁmﬁaﬁﬁm(ﬁ?ﬁ?m
(i) FFheX et Fref 7 oy | |

(i) *aa foemef ol &

(iii) ®1g weft fader =4t Q3 |

(iv) SHFRR T B &

7. (i) Test the validity/invalidity of the following using syllogistic rules and fallacies. (Do
any one) :

wmgﬁﬁ%ﬁmaﬁtaﬁﬁﬁmmnaﬁgmﬁwﬁf@aaﬁéﬂwaﬁmaﬂvﬂm
HIT (HIF T 0

Some Christians are not Methodists, for some Christians are not Protestants and
some Protestants are not Methodists.

@Mﬁmaﬁimﬁﬁ@mmﬁ?qﬁéaﬁt@mﬁm
T

Or (3TZI'EIT)
-No criminals were pioneers, for aIl criminals are unsavoury persons and no pioneers
WEre unsavoury persons. g

ﬁémﬁmﬁqﬁma&ﬁﬁaﬁmﬁwmiaﬁt#mw

STeHt et or |
(ii) Test the validity/invalidity of the following using syllogistic rules and fallacies: (Do
any one)
f : P.T.O.

Ao,
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(i)

@

W%mﬁtaﬁaﬁwmm@ﬁnﬁf@ﬁaﬂéawaﬁwﬁwm -
Fifg, (FF T O

AAI-4

110 -3 ' ' 3

Test the validity/invalidity of the following by Venn Diagram : (Do any oner)

Some reformers are fanatics, so some idealists are fanatics, since all reformers are
idealists. ;

Some cobras are not dangerous animals, but all cobras are snakes, it entails that some
dangerous animals are not snakes.

mﬂamxmmmmmhmmmm@aﬁm
?qmm&itmwmmimqﬁqmmﬂﬁ

. FB Fa woers wwer AR wh s wie ) R ge et g § R

(if)

% WACE AR wia T 5
Test the validity/invalidity of the following by Venn Diagram : (Do any one)

mﬁﬁm/mimﬁqﬁmhwmmﬂﬁt@imm
EAE -3

AOO =4 ‘ 3

9. In what moed or moodn, If any, can a second figure standard form categorical syllogism
with a universal conelusion be valid?

e it s ufy o @ W, wﬁiﬁﬁwﬁﬁﬁﬁwmfhﬁmﬁﬁﬁr
ﬁﬁﬁwﬁﬁﬁwiwﬁm? - 5

Or (areEm)

Pr@ve that the minpr premiss must be affirmative in both 1st and Si-d figure of the
syllogiam.

ﬁmﬁéﬁwﬁﬁﬁwaﬁﬁﬁwﬁﬁﬁgaﬁwwﬁﬁﬁmﬁ

WO BT weY | 5

10. Explain and {llustrate any two of the foliowing informal fallacies:

(B

(1)

The argument from ignorance

Complex question
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(iii) Irrelevant Conslusion

(iv) Fallacy of Equivocation.

frafafaa erto=ie adhas § 4 fedl & 9 e e R

() S A

(i) & A3

(iii) ST frend ‘

(iv) FHIAF QAN | : 312x2=7

Identify and explain any two of the following fallacies:

(i) He is a non-vegetarian. So, he should not be invited to speak at a seminar on animal
rights. '

(ii) I met two Americans who were very ill mannered. Therefore all Americans must be
very ill mannered. ‘

(iii) If Amir Khan says that certain soft drinks are perfectly safe to drink, they must in fact
be safe to drink.

(iv) India is over-populated because there are too many people living in India.

frefafeaa § ¥ fEl & qdarsl S YT qun ST S ST

(i) ﬁmﬂmﬁ%mmafwaﬂwﬁ@ﬁsﬁm%ﬁmﬁamﬁaqﬁm
=18 |

(ii) ﬁﬁm@ﬁﬁwﬁa@mﬁlmaﬁma@m%am

(nll)mmwwmﬁ%ﬁ@m@wmgﬂaﬁaweﬁa‘a’ﬁl“ﬁa
w9 ¥ gifa Yo werd B

(iv) W@ s SFEEN AT § s aNd § srafes | Ed € | 4x2=8

900

_E.LU.
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Roll Iplo.
S. No. of Question Paper : 6182
Unique Paper Code | ':2101(;2 4 5§ o P R |
Name ofthe Paper . : Elements of Indian Philééolpli)-f—IA

Name Q'f the Course ~: B.A.(Hons.) Philosophy L

Semc;ster e NSRS

Duration: 3 Hours ; =l i ; | et anmumMarks’?S
(Write your Roll No. on the top :mmedtately t;n rece!pr of this.. quest:on paper ) |

(Wm~ﬁﬁmﬁwmwﬁmmwmwﬁm 1)

Note : = Answers may be written et_ther in Enghsh qr in ngh; but the same medium should be
* used throughout the paper. '

MQWW-WWWMWMWEWﬁmWWW
wmm@ﬁ‘@mﬁﬂ%q

Attempt any Five ﬁuesti_ons. '
All “questions carry equal marks |
frdt e el dCARR
o ae @ oo e E
1. Critically evaluate Carvaka Phllosophy j'

T T e amﬁfq -

2. Explam the Nyaya view of perceptlon E
[ TYEA H YEY WHO ﬁ A afrﬁﬂz

b Y}
00

AR




6182

|
Discuss the padarthas of‘ Valsesﬁ:a Phliosophy
l

éﬁmaﬁa%wﬁﬁaﬂ@r

Discuss the concepts of hberatlon and {t)ondage in Jainism.

S T F Wy T s e mmaﬁﬁaafaﬁm

Evaluate Syéldavada theory of Jainism..

'ﬁﬂvha%mﬁaﬁﬁéwaﬁﬁq

- DISCIJSS the Samkhya theory of evolutlon

R XA H fgwrwEr aﬁ ﬁéaw mﬁm
Discuss the theory of df;pendent ongmatlon accordmg to Buddhism.

aﬁawhaﬁmmﬁaafﬁm

Write short notes on any two :
(1)  Patanjali’s Astanga Yogé
W & st 9

(i) Carvaka’s rejection of inference

HE F S A OGS
(7ii)  Jaina Ethics |
(iv)  Proofs for Prakrti. '

YHfd & gomor |

6182

100
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Roll Ne.
S.No. of Question Paper : 6181 |
UniquePaperCode : 210101 | | G
Name of the Paper - Traditional Logic and Informal Fallacies
Name of the Cou‘rse : B.A. (Hons.) Philosophy s
Semester 1 |
Dcation : 3Houns - ‘ Maximum Marks: 75

(WrireA your Roll No. on the top immediately on receipt of this question paper.)
(3T @ e & SR T e fuifa s W et g fated 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
frouit : T weR-T w1 SR st A R o arw # g fe Tl el
® AW T ® OB Sl |
|  Attempt All questions.
|t g & Iw Ao |
Section A
(@us ‘)
1.  Explain the relationship between truth and validity. X 3
Tl Ue AYal & HeY i SAedl Sifee |
2.7 | Define a term. How combwﬁon and the denotation of a term are related ? Give example. 3
o R FT | T R R ol F ey w1 S e
H | iy :

P.T.O.



(2 6181
How is a statement different from a sentence ? Give reasons. f 3

T dHaE Th 9 O fRg R e g 2 @ difeg

Explain and illustrate all logical relationships between categorical propositions through tladitional

square of opposition. | | . fig G -
freufes el f e afes Gadl @ IRl Ry T 5N SRR e
Hitee | |

'‘What do you understand by existential import ? How does it affect the traditional square

of opposition ? 3

Wmﬁmwmﬁ%?ﬁmmmﬁ:ﬁ-%mﬁﬁ?
'ﬁfmaﬁaﬁumﬁam%?

(@) Rewrite any four of the following in their logical 'fonﬁ : ' 4
freffen § 3 frdl aw A T AEE R § e SR
@) . All good swimmers are not good Athletes.
Tt eﬁ"ﬁ?ﬂm aq%ﬁa?—ﬁzﬂﬁé\% |
(i) -~ A Leopard will never eat gfass.
Th tgsll &l off ﬁm qE @ |
(ifz) Only senior citizens are allowed to board first in trains.
Fo R TRE W A 3 A v ww A AT E

(iv)  Reptiles are not always pbiso'nous.

A W wia wwe T A




Qe

ey Ebhi , 6181
"(v)  Few truck drivers are disciplined. |
qS A TF TR TG F |
(b) - Write the converse and obverse of any nwo of the following : | 4
Fretfafan # @ sl @ & ot aor whe SR
(@) All scientists are logicians.
vt Safer meTet ¥
(7))  Some soldiers are notl offel;deré.
%o e oot T ¥
(fif)  Some artists are professionals.

HO FABK W F |

If “No sceptics are philosophers’ is given as true, determine the truth/falsity of the

following : 4
afe ‘e e qeite T ¥ o b @ fefafe # way s
gy |
(z? - No-non—philosophers are scepﬁcs.

HE F-SRIfH GwgER! 7@ % |
(i) | Au non-sceptics are non-philosophers.

o s el § |

P.T..



(4) 6181

Test the validity/invalidity of the following syllogism | 6

Frefoafes =g = Suqysmem FT Wiy Hifw .

(i) All astronomers are scientists, for some astrologers are not scientists, and some
astrologers are not astronomers, _ ,
wfast emewret @ oan |
or.
(3rgam)
(if)  No plants are gfeen vegetables, all weeds are plants, so some weeds are not green
vegetables.
ﬁéﬂﬁ'ﬁ%ﬁﬂﬁﬁﬂﬁéﬁ,mﬁmﬁﬁaﬁim HO WTER
& ofsat = 3
Test the validity/invalidity of any two of the following : 6

ﬁmﬁﬁgﬁ@maﬁawaéquﬁwm:

)
()
G

__(4)

AEE-1

EAE-2

All-4

EIO-3

e e —————



(5 ' | 6181
Prove that the major Apremise rﬁust be universal in the first figure. 6
fos #INT % wom srpfa § wor smuR amm wdemdt A9 &
o
(3reram)

In what mood or moods, if any, can a valid standard-form categorical syllogism have only

one term distributed and that twice. | ,
'mwmmﬁﬁwmw%ﬂﬁ@awﬁa%aﬁaﬁw
@ W s B ¥ SR 9w U @ WR oww d ¥

Section B

L}

(Tue ‘o)
Explain and illustrate the following informal fallacies : ' 4x5=20
Frefefin sriveaie Teds =t G e w@fw
(1)  Complex question
oA T

(f)  Argument Ad Ignoratium

SRATHSAF  The |
(iif)  False cause

e FeRc
(iv)  Fallacy of Converse Accident

ITAY TEhS |

P.T.O.



w

(6 ' _6181“

12. Identify and explain any two of the following fallacies : 2x5=10 §

Freafefen #§ & frdl & aaenil 91 weaf ik =men wifw

()  Only man is rational. But no woman is a.man. So, no woman is rational.

@aaﬁtﬁﬁéaﬁ%léﬁmﬁﬂﬁmﬂﬁ%lm g T Tagent 1

(i1) - Everyone must be allowed to speak his ot her mind because otherwise freedom of

}.

speech would be violated.

s, HI%W'@W‘IT& ﬁ@aﬁmﬁﬁmmmwmk
3w & ST

(7))  If you do not go aWay from my house, I will call police and get you arrested.
aﬁ@ﬁim@rﬂiﬁﬁqﬁrﬁmﬁwéﬁnaﬂtmm_@l
(iv)  Fine for parking.

wiEn @ fog w3

6181 : 6 100
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SIL. No. of Ques. Paper ., 7934 GC
Unique Paper Code : 12101101
. Name of Paper : Indian Philosophy
Name of Course : B.A. (Hons.) Philosophy
Semester 1|
Duration ¢t 3 hours
. Maximum Marks 278

(Write your Roll No. on the wop immediately on receipt of this question paper.)
(5 5997 & ed @ SR G 73 FEifa @F ) S99 sEEE s )

Note:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

ﬁmﬁ:—wwwaﬁ?#ﬁ_ﬁ?mfﬁﬁﬂ#ﬁwﬁﬁmc‘-‘:ﬁ#mﬁaﬁﬁww
T% § &I qIE

Attempt all questions. All questions carry equal marks.

@Y v F IW AT g 5 F HF qEH &

1. Discuss the distinction between the orthodox and heterodox schools of thought in the
classical Indian Philosophy. Explain their common characteristics.

e qRdtE gui & s aun Wi geEmRl % 48 it faae St e e
ﬁ@waﬁa'}&mwmi '

Or (31gen) |
Examine the doctrine of the Self'according to the Upanisads.

Sufsel o sfafea sTey =t Sragnun & T FHST |

2. Discuss the main features of Carvaka school of Philosophy.

wrEte 39 W A favivarel @ ==t S |

Or (319an)
Explain the Buddhist theory of Prafityasamutpada.

ﬁ@??héﬂﬁﬁﬁﬂ?%’aﬁaﬁmaﬁﬁm

3. [Examine the nature of knowledge according to Nyaya and Mimamsa.

A SR WA 53 % AR W % W # e FHe |

B.'T. 0.



7934

Explain the nature of Prakrti according to Sarikhya philosophy.

Or (31era)
qiEa 3 & AR M & WEY & A Hifwg |

Explain the nature of Brahman according to Adi Sarkara.

a7ife SisuErd & SR FE & WEY S A HW |

. Or (319ar)
Discuss the main features of Ramanuja’s Visistadvaita.

e & fafyeRe aui @ ger fadmasd &t == st )

Write short notes on any two of the following:
(i) Anekantavada
(i) Syadvada

(iii) Satkaryavada

© (iv) Asatkarya vada

(v) Refutation of MEyE.

frefarea § ¥ sl & W dfa feui fafa
() HHER

(i) ¥R

(iii) IS

(iv) STHAHEAR

(v) WIEAER e |

900
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This question paper contains 4 printed pages. i Your Roll No. ..........
SI. No. of (ues Paper 7937 : GC ’

Unique Paper Code : 1211 1104

Name of Paper ; Statistical Methods for Psycheological fesearch - 1

Name of Course : B.A. (Hons.) Psychology

Semester oI -

Duration : 3 hours

Maximum Marks 15

(Wim}ourﬂoﬂNo. on the top immediately mma'p:ofmisqumior:pqve}
@wmw%ﬁra& & Wﬁﬁﬂ#ﬁqﬁiﬁmwmaﬂmw»

NoTE:— Answers may be wntten eu‘her m Englzsh orin Hmd: but the same med;um shc
used thraughout the paper e

ﬁm_—wmaﬂmwﬁwmﬁﬁfﬂ?ww#ﬁﬁmﬁﬁﬁwmm
Wa?s?wmﬁm

Attempt all questzans Calculators with szmple arithmetic functions are aIIowed
Statistical tables and graph paper will be provided.

MW%WW:WWWW@W%@#W?:
: mmaﬁzmwmmmﬂr T

(a) Construct a hlstogram for the followmg scores obtamcd by students ona test of

psychology:
mﬁamﬁmqﬂmmmmmﬁnﬁrﬁmm%mww
frmfor Fifse:
' Scores : I
79-83 g
74-78 7
6973 .0 8
6468 -1 12
50-63 0 " 13
54-58° - .15
149-53 )
44-48 16
3943 70
34-38 9
903X LG
4

- 24-28




7937

~(b) For the above data, compute P and fmd the percenttle rank for a score of 58-5

‘- avhm aﬁt wlgqrﬁ?ﬁ tu.@rq:'t %r

g

o ,o;-'(am)

: What is the relevance of statlstlcs in psychologxcal research" Usmg suitable exan

descnbe contlnuous and dlscrete vanables m psycholo glcal research

ua‘réwﬁm aﬁﬁﬂﬁﬁ mﬁe:afraqrwnaaé? W mﬁmﬁ—qﬁ“
':'f;j_aagwmﬁat‘aaaaﬁtmaﬁmavhaftmr”- e

'Compare'the propertles of mean and medlan a measures of central tendency

Ibr- (s

: "'Descnbe the dlfferent measures of vanabthty _ T_Why 1s vanance of httle use in. descn

'(a) Calculate mean medxan and standard dewa’uon for the followmg set. of scores;

mm%mwwnmaﬂtwmaﬁmaﬁm
851391073461112 & e _ i g

(b) Assume that a distribution of 10 scores has a mean value of 5. If nine of the score
4,9, 35, 6 1,7,2;8, 3, fmd the tenthscore _ :

meﬁmﬁmmmqmmsélwﬁ:9m4 9, 5 6.1, 7,2,83
mﬁ‘wﬁmaﬂm| - ‘

h Describe the nature of a nnrmaI probabilify curve.

'anmﬂwﬁmavhaﬁml

" Or (s1am)

What are standard scores? Exarnlne the characteristics of z-scores.

>

mmwaﬁﬁ*? zmﬁmﬁmﬁmﬁml ‘



3

6. (a) A person scores 78 on a test of verbal ability and 85 on a test of spatlaL,ablhty
verbal ability test, the mean is 60 and standard deviation is 10. For the spati:
test, the mean is 77 and standard dev:atlon is 7. Which is this person s stronge:
verbal or spatlal" ot s

@mﬁﬁ%mﬂfﬁmaﬁﬁmqﬁ&mmmmamwﬁmaﬁw
TTAis ¥ | s fEadr W & g 60 3 g fa=ed 10 3R
aquvfnamqﬁma:rwwmwammﬁam?%tmmﬁﬁﬁmq
qaﬁaqf‘aa;aﬂ‘ﬂﬁrmm#ﬁ Wwwﬁm7

(b) Entrance tcst scores of 2000 students are normally dlstnbutcd w1t]1 amean of
a standard dewatlon of 100. :

mmmﬂﬁﬁﬁﬁzooowaﬂmwﬂmmwwwsma

fere 10081 ey _ |

i Ifa student obtamed a score of 630 on this test how many studcnts
‘higher than that student?

uﬁmqﬂmm@mwm&o%?ﬁmﬁmﬁmﬁﬁm
afaaima;mm?

(i) 'What are the score llmlts w1th1n whlch the mlddle 30% of the scores fall?
_mmqmﬁaﬁﬁlmwmmﬁamaﬂ?é;so% mla;am%ré'? |

7. - What do you understand by correlatmn" Examme the cautions concermng cor)
coefficients. A

mmaﬁmwwwﬁ@waw%w&amwﬁnﬁ#aﬁm
: or (a1zran)-

What is a random sample?: Descrlbc the random sampling dlstrlbutlon of the mean.

;mmwga qmm%u@mwﬁwhﬁwmavﬁraﬁml

(a) Compute Pearson s correlatzon coefficlent for the fol]owmg data:

ﬁnﬁmm%ﬁqﬁ'ﬂmmawaﬁmaﬂm
b ke &
10 -
12.
15;
11
14
16

- N SRV - S TR N



N7

9

4
(b) From a normaliy disiributed popu]atlon with g = 120 and 0‘20 if saniglos of Siz
are drawn at random, what is the probablhty of Dbtammg a samp[e with 2 mean
differs from the population mean by 5 pomts or more?

Frafts wfy, FREa 4=120 3R 0=20 A & ¥ wfresf = ATHT
aﬁtwﬁtﬁmﬁzﬂaﬂ%ﬁmm%a‘rwm%maﬁ F FTET
ﬁ'fﬁf‘?ﬁﬁtnwm AT é‘nmﬁtﬁs mwwﬁﬁw%

Answer the followmg questlons

'ﬁwﬁf@am%wﬁm

A1) lee the real limits and 1nterval wndth of a class. mterval of 53-4- 53 9 v

o measurcment is to the nearest tenth.

."mwm‘é%@%méﬁwsmsgﬁaﬂmﬁmm
#ﬂaﬁtmmﬁmnwﬁm? :

'(it). _Wh1ch measure of vartabthty is the most sultablc for vcly skewed distributions? |

- reasons for your answer.

'5"a§aﬁunﬁﬁrw%ﬁamﬁamwﬁqmmﬁaﬁmﬁmﬁm%7aﬁ
%mﬁaﬁmﬁﬁml _

i (111) Length is con51dered to be a contmuous vanable What kmd of variable is: for

i when we. measure Iength to the nearest tenth ofa centlmeter"  Explain.

qﬁmaﬁﬁuﬁmméﬁmmézmmﬁmmﬁmww
ﬁa’rﬁzﬁno&ﬁ@ﬁm&h? suaﬂa:maﬁmr

(w) Neha obtamed a score of 40 on a readmg ablhty test and Mira a score of 20. CaJ
‘say that Neha is twme as good as Mira in reading ab111ty'7 Explaln : s

wﬁaﬂﬁwwﬁmﬁmaﬂtﬁmﬁzﬁmmmu a::rgqamm—?r:
ﬁmﬁar@rggq‘tmr@atéi' ST FIFT | s

(v) Show the locatmn of mean, medtan and mode in a negauvely skewed dlstnbutxon

- Wﬁﬂnﬁmwﬁnwnmaﬁta@a;aﬁfmﬁraﬁwﬁw

(v1) What is the mgmflcance of Central Limit Theorem in statlstlcal mference‘?

Hmﬁqa@mﬁmhmmmmméa

(vii) Describe the COHdlthBS nnder which Spearman S Rank-Order Correlation CoefFii
~ is used. | : :

mmﬁﬁ@wﬁmmﬁﬁwm—mmaﬁwﬁmm
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Maximum Marks 75

 (Writeyour Roll No. on the top immediately on receipt of this question paper.) .
@mw%ﬁaﬁﬁmﬁ#n&ﬁtﬁﬁamwmmm@u

Note:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

feuuit.— @ F¥797 F1 I HAF A1 =1 (4 ¢ 9w A G AT qei Iw w1 aem
T& & g feg | : ‘

All questions are compulsory.

@t g g g

1. Discuss Psychology as a science. Discuss the merits and limitations of the observation
~— method in Psychology. '

e 3 o & w1 § fdem e aaame otsaa & "o § Sgu fafy
& TS IE HIWT | . Tz, 7172

- Or (319=m) S ‘
How do biological perspective and sociocultural perspective complement each other?

form YR s Tftien aur G- HikEas 9ried Th g & [T 8 2 quiT @iy |
| 15

2. Describe the concepts of attention and inattentional blindness. What kind of external and
internal factors influence attention? :

mmqﬁmmqﬁﬂm%mmaﬂqaﬁﬁqlmmaﬁﬂmﬁaaﬁaﬁmﬁm@
A0 RS H STE H | : Tz, T1rz

_ Or (3rram) :
Describe the process of perception. Explain the various cues of depth perception.

Sy 31 SREAT S aviT ST | TR Togw & fafie fagl @t fagem i) 5,10

P.T.O.

P10,
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5

2
2

What is the role of reinforcement in operant conditioning? Discuss the applications of
schedules of reinforcement in everyday life.

mmwﬁmﬁwqﬁmﬁ?hﬁﬁmmﬁwqﬁﬁwﬁraﬂ

SYAINTAT * IeerE FAT | . 5,10

Or (1an) |
Explain the nature of sociogenic motives. Explain the relationship between motivation
and performance.

Wﬁamma&aﬁmaﬂﬁmwmamﬁwa%ﬂa%#wmm
FIfST | 7.8

“Memory is described as a type of information-processing.” Explain using Atkinson
Shiffrin Model.

"wﬁﬂm—wmmm%mﬁ"m-mmﬂmﬁ_w
HIfST | 15

_ Or (39an) ,
Describe the factors that enhance the process of retrieval. Discuss the significance of
motivated forgetting in daily life situations.

afﬁﬁaﬁwwaﬁnmmmml 10,5

Write short notes on any two of the following;:
(1) Psycholog’y_ in Modern India

(ii) Illusions

(iii) Parallel distributed processing

(iv) Motivational conflict.

Frafafad & & el & w feomit fafae

(i) 3Yf s WRa ¥ wAfaEE

(i) W

(iii) PR T
(iv) WMHIER-faafta wiwar @iy | ' T2, Tiz

700
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(Write your Roll No. on the top immediately on receipt of this question paper.)
(9 597 & foerd @ IR &3 7 FeiRa @ ) s s fafed )

NoTe:— Answers may be written either in English or in Sanskrit or in Hindi; but the same
medium should be used throughout the paper.

ﬁwﬁ:—mwwm#&mm#ﬁﬁmfﬁﬁ#awﬁméﬁnw
ITRT FT AIEIH TF & g IR

All questions are compulsory.

Fﬁmmaﬁwg:
WFT & (SECTION A)
1. 9T % e & fowa F fafa= wat =1 fadsm v

Discuss different theories regarding the data of Rigveda.
S 191 (Or )

FAT i foa-awg &1 aviT Fif |

Describe the subject matter of Rigveda. 14

WE(SECTIONB)
2. SAN<H & &9 ¥ THEC H fG397 Fiew |

Discuss Ramayana as a first poetry.

- ‘ YA (Or)
AT & WIEHTH Heed &1 faa=a HIf |

Discuss the cultural importance of Ramayana. 14

) . [T (Section C)
3. WEIMRA & - &1 frequ S |
Describe the stages of development of Mahabharata.

HAG4ET (Or)
P.T.O.
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2
SUSTe o7 % Y F WEWRA @ auly T | |
Describe Mahabharata as a source of literature.

‘ W'EI(SﬁcrmN D)
T i fower-ag & ot i |

‘Describe the subject matter of Puranas.

: HYST (Or)
VI & WIS e ERER I

Discuss the social importance of Puranas.

YT & (SECTION E)
Freffefe W ey fewfort fafae (31 ws fraot e ),

Write short notes on the following (one should be in Sanskrit):

() ™ gwEE
A9 (Or)
Citc)
(i) arforfy
. 3191 (Or)
TRTATSIRT _
(iii) =mais (T 1 W= TRy
494 (Or)
e ¥4 F qme ufET |

14

12

7x3=21

200



This question paper contains 3 printed pages. Your Roll No. ........cc.oenssinsee

SL No. of Ques. Paper\ : 7940 GC
Unique Paper Code : 12131101
Name of Paper : Classical Sanskrit Literature (Poetry)
Name of Caurse : B.A. (Hons.) Sanskrit

- Semester 21
Duration : 3 hours
Maximum Marks + 75

(Write your Roll No. on the top invnediately on receipt of this question paper.)
(59 7+ & Prerd 8 W @ w FiRa @ @ s sigaia fated ()

Note:— Unless otherwise required in a question, answers should be written in Sanskrit or in
Hindi or in English; but the same medium should be used throughout the paper.

ﬁmﬁ:—mwmwaﬁ'wwmwmmmﬁwﬁ#mmmww
7 T dfeT a4t 3T &1 arey oF & & ST

Answer all questions.

wH ¥ & I T

. @) F=faRe 1 agae it : 4
Translate the following : |
Tl HAAFER FUASRAGAGRA: |
AU IS ERIaRa A Ty | |

44T (Or)
ﬁl‘v‘rﬁﬁm?ﬁﬁm_mﬁqﬂazl
O IONE IR §9ar 24 |

(@) f=foRaa & e @i 3
Explain the following ;

d =1 SigHe~ Seuqaidasdd: |
& ol & Ryl wafefy ) |
3eaT (Or) \
yeiHg el | arar afemudi |
e ITegHRT 8 ¥ ¥ |

1 P.T.O.



(P)

ﬁw%r%mzmaaaﬁaéﬁmz

Translate the following :

SRS TR IR = Tyt gRon i

TIT LRI BIEAYR: TR e ||

ﬁw%%aa%wm%q:

Explain the following :

ammaimm‘ma‘ﬁm%—n-mw-\rww’n
ﬁrﬁawwmfﬁﬁgﬁﬁﬂw%wu

R AR o
E@Wﬁ&?ﬁﬁ?ﬁwm:wwsa@mw:u

FrfeRea o1 srgare SR

Translate the following 4

ﬁﬁrf%l%ﬁa%wmra%ﬁrwr

Explain the following

amﬁmzwwmﬂwﬁﬁgﬁmw:l
ET YRR o) RS W wwrehy ||
34T (Or)
maﬁaﬁrf&@@%ﬁ%aﬁﬁmﬁmm
wvﬂﬁr%aﬁ%%amuq%ﬂmzagmﬁtn
ﬁfﬁﬁ‘v{%ﬁﬂ%wﬁm:

Explain of the following :

B aeoRi ey gy |

2



6.

g asEfa O Tar IR |dl e gurate: | |-
3144T (Or) i

At aeande ., Ay Jeefauoe: |

ol 9 WY SHEHM:, TEUNTd ORH 9T |

(@) frafaia oo © SR 9w@d | fafag : 1x5=5

Answer any four question in Sanskrit:

L $ TN Tl 5 BeEhd?

ii. oy fafum: TageE: wafd?
iii. e ol few?

iv. TP @ g

v.  guIlNd @3 Simee

.ﬁ%ﬁﬁﬁwwmﬁﬁmﬁﬁrﬁm " dx)=8

Write grammatical notes on any four of the following :
forereg, IR, owd, TRe, ufaue, e, fafee, aafd |

Prefofed # & ol @ Wl & swR A 8x2=16
Answer any two of the following :

(@) PifelcE @ Bra—Iell W) e e fafkau |
- Write an essay on the poetic style of Kalidasa.

(@) o ey &y ol @ qoie i |

Describe the common traits of the king Dileep.
@M FARENIH D ISEH G b AR R |

Write the gist of Vth canto of Kumarsambhavam.
@) wWER @ IgER Rgdefy w ol Fifdm |

Write a note on the ‘[Ag@ET according to Bhartrihari .
@) TR @ 3 &1 fAaew P |

Discuss the statement of g=.

%ﬁquqmemumﬁgmﬁrﬂ@m%%maﬂw%mﬁ
ferfam | 10

Discuss the origin of Sanskrit Mahakavyas. Write a note on the Maha.kavya romances of
Ashvaghosha and Magha.

Jferar (Or)
ﬁﬁma%maﬁ?ﬁzﬁrﬂwﬁw%qk

Write an essay on the origin and development of giti romances in Sanskrit.

3 1390
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Maximum Marks -~ - +75
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u.sed throughout the_paper s 5

. fzmﬂ swwm'wm'aﬁa?w@#mww#ﬁméﬁwwﬁaﬁﬁwm-'

i _-'—f.tl';,:.‘:f' ‘ H.:w‘: L 513
-'bttt thcjsa-m;'md_mm sh‘ai._tlxdt.be ot

Attempt one questzon'each fram PartA and Part Cand twa questzons i/ i
from Part B: Questzons from Part A and Part B cany. 20 marks each
~and questions from Part c cany 15 marks each

maaﬁv##@@ma&rwa##a}m
& Il SHTH | AT F 3R G F TAF T & 20 HE
ammﬂ%ﬂa}mmé;zs ara;?: LI

PART I (‘ITITI' I .
1. What is the sociological petspective? How is it different from commonsense?

mwna‘iu wﬁ&&t‘r‘w%‘? Wm a zrgﬁu TR fr d7

2. Discuss the mtellectual factors respons1b]e for the development of Socmlogy as a
. discipline. - '

_Ww%@ﬁw%mﬁﬁmﬁgﬁﬁ%ﬁmmﬁémaﬁM|

PART II (‘m'lT II)

3 Examlne the concept of mstltutlon w1th the help of an 111ustrat10n

wﬁaamwwﬁam@maﬁmmaﬁml

PTO.-



":.;_;maﬁ %? mmm: i

 5.\_ Wrtle a notc on thc dlfferent types of somal groups and thelr role in soc:ety

wﬁmn{a%ﬁrﬂqmﬁamﬁmmmﬁﬁaaml _

7.. ':Both Socxology and HlStOl'Y studyl human socxety In what way : do'. thﬂf aPPWaCheS
" converge or d:verge from each,"_lj ther? Y | |

Waﬂisﬁgmﬁﬁmahmm.mimﬁflﬁﬁaﬁmﬁm
" m@;—{a‘i‘ﬁaﬂ‘ﬂgtﬁammwé’?
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This question paper contains 2 printed pages. Your Roll No. ..o by
SL No. of Ques. Paper , 7945 _ ‘GC

Unique Paper Code : 12301102

Name of Paper 7 So' iology of India -~ I

Name of Course :o'ns ) Sociology

EC

1. Dlscuss how the admlmstratlve tradltxon helped in the cmergence of an ofﬁcxal view of -

Indlan soc1ety V2 A e gl i e : i
ﬂﬂ?ﬁam%mrwﬁmﬁan%aqﬁﬁmﬁmmmmmm%":‘

2, Examme how the subaltern perspectwe is" a critique of colonial and natmnallst
hlstonography e

mﬁmammﬁmmawﬁwmwﬁ@m%?qﬂw
FHfST |

PART B (TI'I'TT Q)

3. Joan Mencher’s study describes the caste system upside-down. Discuss with examples.

P.T. O.
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aﬁwh%aw&qﬁmwﬁmﬁm@nmﬁm(ﬂmmﬁaﬁaﬁnm'
avhﬁm*mélmwﬁmﬁawafrﬁmn

4. Critically examine the contnbutlon of Daniel Thorner in the understandmg of the agrana
social structure in India. MBS :

emy
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Sr. No. of Question Paper : 1112 G Your Roll No.....ccceuvuue...
4 Unique Paper Code : 235103
Name of the Paper : Analysis — I (MAHT-102)
Name of the Course : B.Sc. (Hons.) Mathematics
Semester o=
Duration : 3 Hours - Maximum Marks : 75

Instructions for Candidates

L

Write your Roll No. on the top immediately on receipt of this question paper.

All questions are compulsory.

Attempt any two parts from each questions.

(a)

(b)

(b)

(©)

State and prove the Triangle Inequality and show that

la]-[b]| <]a-b] Va,beR. (5)

Given § = {1_1; ne N} , show that Sup(S) = 1. (5)
n

Let a> 0 and aS = [as: s € S], Show that Sup(aS) = a Sap(8). (5)

Show that arbitrary, intersection of a family of closed sets is a closed
set. Is this result true for an arbitrary family of open sets ? Justify your
answer. (5)

Define Limit Point of a set. Show that the set of limit points of the set of
rational numbers is R, the set of real numbers. (5)

For non-empty bounded subsets A and B of R, show that

inf(A + B) = inf(A) + inf (B). (5)

PT.O.
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3. (a (i) Show that every convergent sequence is bounded but the converse is
not true. (5)

(i) Use the definition of the limit of a sequence to find the following limit :

. 1 :
hmmm[n2+lj. (21%)

b) ° (i) If (x) converges to x and (y) converges to y then show that
n n y
(x, +y,) converges to (x+y). (5)

(i) Give an example of two divergent sequences (x,) and (y, ) such that
(x, +y,) converges. (2'4)

(c) (1) Show thatlim __n'"=1. (5)
(i) Find the following limit :

lim ln b>1 , (2%)

x—>® b

4. (a) State and prove Cauchy Convergence criterion for sequence of real
numbers. (3)

(b) Prove that lim,_ (1+%) =¥ (5)

(c) Prove that the following sequence is a Cauchy sequence :
1+ _1_ R _1_
21" ml )

5s1=(a) (i) Find the sets of subsequential limits for the following sequences :
) =10,4.2.101,21.0.1.2.10.1.2.1 0...)

(b) = (2,1,1,0,2,1,1,0,2,1,0,1,2,1,1,0,2 ...). (2%)
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(ii) Find the Limit inferior and Limit superior for the above defined
sequences (a ) and (b ). (2'%%)

(b) Show that the following sequences are divergent :
@ 2, = (-1)"
. [ nm .
(i) b, = sm[;] &)

(€) Let x, =8, x ., = X?“+ 2. Show that (x ) is bounded and monotone.

Also find its limit. (5

6. (a) Give examples of the following series with justification :

(i) A divergent series Zan for which Zanz converges.
(i) A convergent series Zan for which Zanz diverges. (5)
(b) Test the convergence of any two of the following series :

0 Z cos(;:)-!—l

1

CRIN

Gi) Y vn+1-+n (5)
n!
(c) State Ratio test for infinite series and show that Zg; diverges. (5)
1

7. (a) State Integral Test for series of real numbers and show that the series ZF
is convergent if and only if p > 1. (5)

PT.O.
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(b) Show that every absolutely convergent series is convergent but the converse
is not true. (5)

(c) - Examine the convergence of any two of the following series :

b

-(ii) Z(—l)n+l _(_l)n

nZak]

gyl | 5)

2n+1 . 4

(300)



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 6427 G Your Roll No........cceveeee
Y- U3 o1 ThHIh ' JNMUCHT FAHHID evreneenee
Unique Paper Code : 232361/232162

giHer TR FIE

Name of the Paper : Reading Gandhi

Name of the Course . B.A. (Hons.)/B.Sc. (Hons.) Math./B.Sc. Math. Sc.
Semester / Annual m A

FEe / AdH

Duration : 3 Hours Maximum Marks : 75
w3 v quiieh @ 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

3. Attempt any four questions.

4. All questions carry equal marks.

el ® fog

L = - @ e A e Ry Ty PR T W s s i |

2 wm—wwmaﬁﬁtm%ﬁﬁnﬁwwﬁ%ﬁm,%ﬁmmﬂwﬁwwmw
B B =8y | ;

3. foresl OIR 9e & I’ <ierg |

4 @h R @ e w

1 In order to understand a text it is important to understand contexts in which the
text was written. Explain this statement in light, of Quentin Skinner’s approach
to the study of texts.

ﬁaﬁfﬁaaﬁmﬁ%ﬁmwaﬁﬁaﬁmm%ﬁiﬁjwﬁﬂmw%laﬁﬁ?
TR & AT ST & SURET F 4 ¥ WY Y 99 HA ol faveor SR |

Y PT.0.
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2.

What are the different ways of reading a text ? Discuss the difference between
“textual” and ‘contextual” approaches to reading a text ?

Uk U I eI & AT 909 9 € 7 Ud snmee @ UWd ik wiehiE Sun o
T 3R W AR HIf |

Why do we read Classics ? Why Gandhi’s Hind Swaraj is a Classic text ¢
B WA (A ) 1 37eaa o) ahed & 7 TR o T e @ o wy ¥ 2

Discuss Anthony °J. Parel’ sinterpretation of Hind Swaraj.

Tl S W B e e BT wmww @ awen 6 R ik

Gandhi differed from Ambedkar on question of eradicating the practice of
untouchability. Comment.

SR A h W R M BT A g & B ar | ol 9 |

Do you think Gandhi’s views are relevant in globalizing world ? Give reasons.

1 Rl I € TR Wl & fer dvdiga R F wmi 2 2 R SR |

Discuss Gandhi’s views on Satyagraha. Examine Bhikhu Parekh’s interpretation
of Satyagraha.

mwmsﬂ%ﬁaﬁmmﬁaﬁﬁmlmwﬁqmaﬁwaﬂﬁ%ﬁ
hifory |

Write short notes on any two of the féllowing :
fFrfeiea % 3 foedl @ w wfera oot Rl
(a) Gandhi’s view’s on Nationalism
qegdre R e & =R
(b) Gandhi’s critique on modern civilization
SR wgEr S e & el
(c) Swadeshi |
ESCEl
(d) Gandhi’s view’s on Environment
AR | e B R

(1800) -
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Sr. No. of Question Paper : 6423 ' G - Your Roll No...........
" Unique Paper Code . 210171/210361
Name of the Paper : Ethics in Public Domain
Name of the Course - B.A. (Hons.)/B.Sc. (Hons.) Math/B.Sc. Mathematical
Science
Semester : VIII
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

A4 -

1. Write your Roll No. on the top immédiately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
Attempt Five questions in all.

4. All questions carry equal marks.

ot @ fog Bdw

1. %W—Wﬁn‘ﬁﬂ%ﬁﬂﬁ??ﬁﬁﬂﬁ?ﬁ%WM&ﬂﬁﬁﬁ%ﬁﬂ?l

9. oE VI -TA T IR ST TR R T s ¥ A, AT @l ST @ e TR
& B =iey |

3. o drer gE @ IO’ W |

4, TR U @ Ik G 2 |

Discuss Bernard William’s position on relativism.

i Rfterg gy qneERE @ FeaT Sl |

OR/FAAAT

Does the fact- value distinction entail subjectivism ? Discuss with reference to
Bernard Williams’ interpretation.

wawwwﬁaaﬁaﬁwaﬁw@am%?aﬁéﬁmaﬁwﬁmﬁ

¥ fade SR |
PTO.
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2. “Marriage is the destiny traditionally offered to woxﬁen by the society” Comment,
R & et amr el 19 )y 2 (ReT) R @i |
OR/3t2rar

Explain James Rachels views on morality as impartial.

éhzriaam'é%1ﬁunﬁ'ﬁﬁhﬁarzﬁﬁﬁ'ﬁhmﬁ=aﬁ”vnz‘aﬂﬁ?q|

3. According to Ambedkar... ‘Caste is a notion, it is a state of mind’. Comment,
FER B FIER “ST o e v eqor 2 | ot fifsr |
OR/3t2rar

Elucidate the notion of ‘Well-being freedom’ and ‘agency freedom’ according to
Amartya Sen,

awafihT?%‘aﬁgnt‘aREWW'E#ﬁtiaaémn’aﬁt‘ﬁﬁm“aﬁﬁixaaémn’aﬁ‘anz'aﬁmﬁqu
4.  What do you understand by Pornography? Is it 3 moral issue ? Discuss,

SEAT ¥ AT T Ty F 7 T IE T WMw A1 2 7 R R

5. Peter Singer believes “It s in our power to prevent something very bad from
happening .... we ought to do it”. Discuss Singer’s argument. What is the result
of this argument ?

ﬁtﬂ:ﬁﬁﬂraﬂfﬁgar?'“aﬁ%swﬂfamwﬁzﬁfﬁrsquéﬁ#ﬁtihﬁiﬁﬁ....éisﬁ‘%araﬂﬂr
ART |7 ﬁﬁnrd%iﬁrEﬁﬁf%1$m'wﬁmnr%'?

Discuss briefly, with reference to T. N. Madan, the significance of the Gandhian
perspective on religion and politics.

sn?aﬁtznﬂﬁﬁﬁ“ééﬁhivﬁﬁté%gﬁﬁﬁﬁhnEﬁréitym'naﬁrékzﬁﬁﬁfﬁ,?ﬁ%ﬁﬁiunam“aﬁﬁﬁw:

.
(1200)
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Sr. No. of Question Paper : 6422 G Your Roll No....l ............
Unique Paper Code : 231361/231162

Name of the Paper : Environmental Issues in India

Name of the Course : B.A. (Hons.)/B.Sc. (Hons.) Math./B.Sc. Math. Se.
Semester ~ =1L

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

78

Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
Attempt any four questions in all.

4. All questions carry equal marks.

Bl » fog Hda

1 3 UE-T & e & SR R e FuiRa T w s s ffee )

2. =8 UTT-UF @ 3o e a1 BE 5l v wrwn F ifsie, AfthT wsht STRY <R wiemw v
& B @Y |

3. A TR ¥F I |

4. Tl TS @ IE T 2

1. Discuss the various theories associated with the decline of Indus Valley civilization
with special reference to environment.
vaiaeel & fagy wwedt % fove o1l @sgar & 9aq @ 3 fals e = == S |

2. Was the affinity between the Mughal rulers and the Cheetah or the Lion inspired

by conservation concerns or by needs of gaming and entertainment ? Discuss.

IFTE WERT 6T Nl TS IR F TG FE T WHR A YRS o W FEAR AR HARSTH
i el § ? ARy Shifeig |
PTO.
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3. It would be difficult to write the history of India’s environment without
understanding the colonial forest policy. Comment.

e a7--ift = R 5 e & galaiy shem = fraT &7 2 | =
ST |

4. Critically examine the significance of multi—purpose river valley projects.
g - I e - 1) GRASHIS & Heed T FETAIEE T FIR |

5. Do you agree with the view that the Green Revolution addressed the issue of
food security, but failed miserably in its social and ecological context ?
ERl mwﬁ%wﬁ%%zﬁa-mmﬁa—maﬁgﬁrﬁﬁmwaﬁ,ﬁ
98 o iR TR T ¥ 90 W e @ |

6. Bhopal Gas Tragedy is a human tragedy with far-reaching implications. Do you
agree ?

e 3G AES T AFG e 2 o uRom g @ 1w 3 5w @ wEea 2 7

7. Define Global Warming. How does it pose a threat to the world community ?

dffgen -am & wRefie =X | 78 g o A favg wen & g v @9 2 7

8. Write short notes on any two of the following :
(a) Gandhi and Environment
(b) Narmada Bachao Andolan
(¢) Green House Gases

(d) Unseasonal Rain \

fAefoReaa & & el <1 W wftre oot <6 -
(@) “FiEr SR s

(1) 3= Bew A
(a) eites gut

(1800)
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Sr. No. of Question Paper : 6428 G Your Roll No.....cceeereanee
Unique Paper Code : 203371/203172

Name of the Paper . The Individual and Society

Name of the Course . B.A. (Hons.)/B.Sc. (Hons.) Mathematics/B.Sc. Math. Sc.
Semester : T/

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

¥.
Zh

Write your Roll No. on the top immediately on receipt of this question paper.

Attempt All Questions.

Answer any three of the following : (5%3=15)

(i) General, man is very useful
He can fly and he can kill
But he has one defect:

He can think.

(a) Name the poem and the poet. (2)

(b) Why do you think the poet calls man’s ability to!think a
defect? (3)

-

(ii) [A]lways squeeze bread to make sure it’s fresh; but
what if the baker won’t let me feel the bread?; you mean
to say that after all you are really going to be the kind of

woman who the baker won’t let near the bread?

(a) Name the writer and the text. S v i)

pfo.
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(b) What’s the nature of advice that the speaker gives to her

daughter? (3)

(1ii) With the naive devotion of Shabari I arranged the food
on your plate '
But the moment you looked at the plate, your face

changed
(a) Name the poet and poem. (2)
(b) Explain “naive devdtion of Shabari in the context of the poem.
(3)
(iv) Nothing remained
But self-confession. “Madam,” 1 warned,
“I hate a wasted journey—I am African.”
(a) Identify the poet and poem. , 2)
(b) Explain the speakers statement : ‘I hate a wasted journey—I am
African’, (3)
2. Answer any two : (15x2=30)

(i) Education is central to Phule’s vision of change. Discuss.
(ii) Kallu proves how attitudes are influenced by affluence. Discuss.
(iii) Discuss how ‘Breaking Out’ deals with imposed domesticity.

(iv) There is no glory or heroism in war. Discuss with reference to text(s)
in the section on Violence and War.

(v) Discuss how race, class and gender affect the balance of power between
the two characters in Roger Mais’ Blackout.

3. Write short notes on any three of the following : (10x3=30)

(1) Brecht views man as a symbol capable of political resistance to war.
Explain through suitable examples from General, Your Tank is a Powerful
Vehicle.

(ii) Conditioning of girls in a patriarchal society as reflected in “Girl’.
(1ii) The theme of the poem “Harlem”.

4

(iv) Comparison of the teacher to Dronacharya by Omprakash Valmiki’s father.

(600)

4
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Sr. No. of Question Paper : 6405 G Your Roll No..ccecerrcnnnnns
Unique Paper Code : 205161

Name of the Paper : Hindi Higher (Qualifying)

Name of the Course : B.A. (Hons.)/B.Sc. (Hons.) Maths

Semester i

Duration : 3 Hours _ Maximum Marks : 100
el e ol G L CEN

= -1 & fe 8 3w Ry ww Fuiie Bm w s s e
afl waT e ® |
Yol & IR R 300 FeE § SR fewfirn e 160 TRl § foRaw o

WA e § f2el & Wevd W W Siefg | (15)
3rerdn

FE & W B9 @ wew i fAwmm @ == S |

TEHET 3 T A FR T Hlfog | (15)
rerat

TE W & €9 ¥ Bl =i By w fEr w6k

FAR AT &1 FTURIN TN @a §U o - 99R & {afae Wemsl o 9k i |
- (1)
grerar

eifas | wERa B 9t fase o 3emer dd gy 39 v fSRan sard |

A

PT.O
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4. f&d di w oo foRaw ' (5+5+5)
(i) ¥R s | '
(ii) AT-E T 6 S
(iil) T ® THAEAR D AT
(iv) FFRRS WAl i S

5 oY @7 ¥ 9 W@ T@-uw A Hes @ g 3 ge uRw el @ o
forfaw | (5)

JrRrdn

e X Q- e = Ty (SR daR iR |

6 (=) Rt e Rl e & B8 wRwr kg (5)

Audition, Capital. Complex, Dialectics, Empire, Finance, Editorial, Idea

(@) feedl dter warafe st & fd wfoer fofag: (5)

(1) Accepted for payment
(i) T agree

(iif) Call for an explanation

(iv) Seen, thanks .

- (v) The papers are sent herewith
(vi) Please discuss

(vii) For information only -

(viii) Draft approved as amended
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() Frefafem et /At ¥ ¥ Fll ot @ B wRre i (5)

(i) A bone of contention
(i) Easy come easy go

(iif) Hold }(011_11-‘ mouth

| (iv) To beat about the bush

(v) To take the words out of mouth

(vi) To look blank

(vii) Thrown on ones back

(viii) To freeze out
7. Tl U v W o 250 T X qrera i ; (8)
(1) =Rt W = |
(i) s W @
(iil) =¥t ¢ sfear F w0

STerdar

e o o e SR R S o e 2 1 o A A ¥ e
T | ST G - G W G M ¥ ST W g9 I W B A @ o Sl S
S T & SRR e F W wr ok e o e W R, 8,

PT.U.
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g Tt was fawa o @ 400 weat ¥ fRew o

(i) e S

() Jor S o
(i) $eE e A AV
(iv) WER B I

i %
' (800)
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Sr. No. of Question Paper : 6403 ' G Your Roll No................
Unique Paper Code : 203161

Name of the Paper - English Higher (Qualifying)

Name of the Course : B.A. (Hons.) / B.Sc. (Hons.) Mathematics

Semester - : /X .

buration : 3 Hours | Maximum Marks : 100

Instructions for Candidates

I
2,

Write your Roll No. on the top immediately on receipt of this question paper.

All questions are compulsory.

SECTION I
(Comprehension and Contexts)

Read the passage given below and answer the questions that follow:

Protection and conservation of forests and wildlife are essential to
maintain the earth’s health and environment. Forests play a key
role in the maintenance of climate, rain- patterns, water and

soil conservation.

India has 16 per cent of the world’s population with only 2.4 percent
of its land area. There is much pressure on our natural resources
including forests. Due to increasing consumerism and

nature- hostile activities, the forest-cover is finishing very fast.

Thousands of snails, frog, rats, earthworms, cockroaches and
other animals are killed for dissection in schools, colleges and
laboratories for experiments. This disturbs the ecological balance.

PTO.
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There is mindless destruction of forests for timber, firewood and
fuel. Every year there is a loss of about 1.3 hectares of forest area
in India because of indiscriminate clearing of forests for
cultivation, quarrying and large dams and irrigation projects.
 Over-grazing has also taken its toll. The result is serious

ecological imbalance and environment degradation.

Conservation of forests and wildlife is also important as they -
make life beautiful and colourful. Their proper protection
and conservation also means a continuous and adequate supply

of food, fodder, medicines, timber etc.

. Forests and wildlife and renewable resources need to be carefully
protected, and increased in a planned way. There is a need to spread
the awareness about forest and wildlife conservation. Social forestry

can be taught in schools as a subject.

More and more trees should be planted, protected and seen growing and
maturing. The destruction of forests in upper regions like Himalayas causes
erosion of top soil, erratic rainfall, and recurring floods. Deforestation should

be checked as it results in loss of productivity and environment degradation.

Encroachment on forests should also be checked. Non government
agencies and village communities should be involved in regeneration of
degraded forest lands and be allowed to share the benefits of these schemes.

The forest and wildlife conservation laws should be made very strict.

(a) True or false: (4x1)

(i) India has 16 per cent of the world’s population.

(ii) Killing of frogs and rats does not disturb the ecological

balance.

(iii) Maintenance of forests and wildlife leads to an adequate supply of

food and medicines.

-
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(iv) Deforestation results in increased productivity for villages.

(b) Match the words in Column A with their meanings in Column B

A B u

Timber preservation

Erratic necessary

Conservation wood “

Essential uneven (4x1)
(¢) Answer the following questions in two three sentences each:  (4x2)

(i) What is the key role that forests play?
(ii) Why is the forest-cover in India decreasing?
(i11) How is ecological imbalance being caused in India?

(iv) Why should more trees be planted?

2. Read the following passage and answer the questions that follow :

Yasmeen :  Have you seen the advertisement, Dr. Dass? In the Daily
Standard?

Dass : Yes, Yasmeen, [ have. In fact, I asked Mr. Roy to put it
in.

Yasmeen : Do you think it’ll work?

Dass : T can’t be sure. But Tiger’s Eye will be worried.

Yasmeen ¢ Nobody would dare to give information against Tiger’s Eye.

Not even for a lakh of rupees.

Dass :  Perhaps you’re right. But Tiger’s Eye is an organisation,
a chain. And a chain is only as strong as its weakest
link! : -

PTO.
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Yasmeen :  And who is the weak link?

Dass . The weak link is always the person who has much to lose and
little to gain. The one person who is not getting his—or her—
fair share.

Yasmeen : Itcan’t be Vayu

Dass . No, not Vayu. She is not part of Tiger’s Eye. No, the weak

link is Prasad. Professor Prasad.
(i) What is the advertisement that Yasmeen is talking about?

(ii) Dass says that Tiger’s Eye is an organisation. What type of organisation
is it?

(iii) Why is Professor Prasad considered as a weak link? (3x4)
3. Answer any four of the following questions in about 40-60 words based upon
your reading of Tiger’s Eye (4x4)

(i) Who is organizing the Sixth International Wildlife Conference and where is
it being held?

(i) Who is Mr. David Blake and why has he come to India?

(ili) Why is the circulation of The Daily Standard falling, according to
Mr. Rasheed? What does Yasmeen think is the reason?

(iv) Why does Vayu want David to go away from Cochin?
(v) Who is Gurusamy and what role does he play in the story?

SECTION II
(Reported Speech and Dialogue)

4. Read the dialogues and fill in the blanks in reported speech with the correct
word : (8%1)
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{Example: Mrs. Mukherjee: Well, what news?
Mrs. Mukherjee asked Vijaya what the news was. }

(i) Mr. Roy: My personal car will meet him at the airport.

Mr. Roy said that __ personal car _______ meet him at the airport.

(ii) Yasmeen: Have you seen the advertisement, Dr. Dass?

Yasmeen: . Dr. Dass if he —— seen the advertisement.

(iii) Vijaya; David, Mr. Roy wants to see you in his office.

Vijaya informed David that Mr. Roy — to see —_____ in his

-of_ﬁce.

(iv) Vayu: Are you staying here, professor?

Vayu asked the professor —_ he was staying

5. Complete the dialogues : (4%2)

(i) Mr. Kapoor: Where is Anu? I haven’t seen her in office today.

Anmol: She

(ii) Vani: Where are you going?

Charu:

(iii) Vikram: Which platform is the Rajdhani from Howrah arriving at?

Enquiry Officer: It

(iv) Librarian: Why are you so late in returning your book? You’ll now have

to pay a fine.

Student:

P.T.O.
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SECTION III
(Grammar)

6. In the sentences given below use the correct form of the verbs given in brackets :
(8x1)

(i) My son —_____ (took) coaching in cricket these days.
() 'm_—_ (go) to Bangalore next week.

(i) Last week, we _____ (complete) our stocktaking.

(iv) They tried to contact him yesterday but his phone —___ (switch)
off.

(v) Next month the bank ______ (open) its hundredth branch in Mumbai.

(vi) Last night thieves ______ (break) into a shop near the bazaar, and
(steal) goods worth Rs. 40 lakhs.

(vii) He tripped and fell down when he ___ (climb) down the ladder.

7. Rewrite the following sentences with the underlined expressions in their

short form : (8x1)
(i) Have you seen this morning’s newspaper? I cannot find it anywhere.

(ii) We will have to walk back home as the auto rickshaws are on
strike.

(ii1) T have been trying to call him since last week.
(iv) I have not got my breakfast.
(v) We could not talk to the Indian Tourist Board.

(vi) We do not have enough trained staff at the moment.
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(vii) It is raining heavily outside. You should not go without an umbrella.

8. Fill in the blanks with suitable articles, ‘a’, ‘an’ or ‘the’. (8x1)

(i) This year we have added ________ extra course to the syllabus.

(ii) If you go to Madurai, you should visit main temple there.

(iit) Mr. Patil is opening ___ new hotel near Cochin.

(iv) He walked in the rain without ______ umbrella.

(v) Letus open —______ accountin __ b.ank next to our office.
(vi) He has —_____ friend who is in —____ same class as his sister.

9. Fill in the blanks with the most suitable preposition of your choice: (8x1)
(i) Do not take photographs ________ the building,.
(ii) Never put warm food ______ the refrigerator.
(iii) There was a long queue ________ the passport office.

(iv) The conference opens 20 October, beginning

10.00 a.m.

(v) Mr. Joshi will see you [ o’clock his office. That’s
the second floor.

10. Correct and re-write the following sentences : (8x1)
(i) It is a five minute walk by taxi to school.
(i1) Meet me after the bell when I am empty.
(iii) Both of us all are going to Mumbai.

(iv) I am wanting to improve my English.

) PT.0.
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(v) Open the door and let the weather come in.
(vi) I didn’t understood what he said.
(vii) This bridge was complete in 1982.
(viii) I think we mI-JSt to leave now, otherwisga we shall miss the train.

e~
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